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TNPSC GROUP I – TEST BATCH 2022 
TEST XIV – UNIT VII INDIAN NATIONAL MOVEMENT 

 

1. Which among the following was the First civil disobedience Movement headed by 
Gandhi in India? 
a. Champaran Satyagraha   b. Kheda Satyagraha 
c. Ahamadabad Mill Strike   d. Non Cooperation Movement 
e. Answer not known 
gpd;tUtdtw;Ws; vJ> ,e;jpahtpy; fhe;jpapd; jiyikapy; ele;j Kjy; rl;lkWg;G 
,af;fk; MFk;? 
a. rk;guhd; rj;jpahfpufk;   b. Nfjh rj;jpahfpufk; 
c. mfkjhghj; Miy Nghuhl;lk;  d. xj;Jioahik ,af;fk; 
e. tpil njhpatpy;iy 

 
2. Which of the following is/are launched by Gandhi in South Africa? 

I. Satyagraha against registration certificates in 1904. 
II. Campaign against restrictions on Indian Migration. 
III. Campaign against poll tax and Invalidation of Indian Marriages. 
IV. Protest against Transvaal Immigration Act. 
a. I, II and III    b. II and IV    c. II, III and IV 
d. all of these    e. Answer not known 
gpd;tUtdtw;wpy; vJ fhe;jpahy; njd; Mg;upf;fhtpy; njhlq;fg;gl;lJ? 
I. 1904,y; gjpTr; rhd;wpjo;fSf;F vjpuhd rj;jpahfpufk;. 
II. Gyk;ngaUk; ,e;jpau;fs; kPjhd fl;Lg;ghLfSf;F vjpuhd gpur;rhuk;. 
III. jiythp kw;Wk; ,e;jpa jpUkzq;fis nry;yhjjhf;fy; Mfpatw;wpw;F vjpuhd 

gpur;rhuk;. 
IV. buhd;];thy; FbNaw;w rl;lj;jpw;F vjpuhd Nghuhl;lk;. 
a. I, II kw;Wk; III   b. II kw;Wk; IV   c. II, III kw;Wk; IV 
d. ,it midj;Jk;   e. tpil njhpatpy;iy 
 

3. The Tolstoy Farm was founded by Gandhi in  
a. 1904 b. 1905 c. 1906  d. 1910  e. Answer not known 
lhy;];lha; gz;iz fhe;jpahy; ___ ,y; epWtg;gl;lJ. 
a. 1904 b. 1905 c. 1906  d. 1910  e. tpil njhpatpy;iy 
 

4. What did the Smuts Gandhi agreement guarantee the people? 
a. The British would immediately evacuate South Africa. 
b. There would be no more “white only” reserved compartments on trains. 
c. There would be no more poll tax. 
d. All the above 
e. Answer not known 
];kl;]; - fhe;jp xg;ge;jk; kf;fSf;F vd;d cj;juthjk; mspj;jJ. 
a. gpupl;b~hu; cldbahf njd; Mg;hpf;fhtpypUe;J fhyp nra;a Ntz;Lk;. 
b. ,uapypy; ,dp “nts;isau;fSf;F kl;Lk;” xJf;fg;gl;l ngl;bfs; ,Uf;fhJ. 
c. ,dp jiytup ,Uf;fhJ. 
d. ,it midj;Jk; 
e. tpil njhpatpy;iy 
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5. The leaders joined with Gandhi in Champaran Satyagraha 
I. Rajendra Prasad 
II. Mazhar-Ul-Haq 
III. Mahadev Desai 
IV. J.B. Kripalani 
a. I, II, III    b. II, III, IV   c. I, III, IV 
d. I, II, III, IV   e. Answer not known 
rk;ghuz; rj;jpahfpufj;jpy; fhe;jpAld; ,ize;J nray;gl;l jiytu;fs;  
I. ,uhN[e;jpu gpurhj; 
II. k`u; - cy; - `f; 
III. kfNjt; Njrha; 
IV. J.R. fpUghsdp 
a. I, II, III    b. II, III, IV   c. I, III, IV 
d. I, II, III, IV   e. tpil njhpatpy;iy 
 

6. Arrange the following events in the chronological order. 
I. Champaran Satyagraha 
II. Kheda Satyagraha 
III. Ahmadabad Mill Strike 
IV. Bardoli Satyagraha 
V. Rowlatt Satyagraha 
a. I, II, III, IV, V  b. I, III, II, V, IV  c. I, II, III, V, IV 
d. I, III, II, IV, V  e. Answer not known 
gpd;tUk; epfo;Tfis fhythpirg;gb xOq;fikf;fTk;. 
I. rk;guhd; rj;jpahfpufk;     
II. Nfjh rj;jpahfpufk;  
III. mfkjhghj; Miy NtiyepWj;jk; 
IV. gu;Njhyp rj;jpahfpufk; 
V. nysyl; rj;jpahfpufk; 
a. I, II, III, IV, V  b. I, III, II, V, IV  c. I, II, III, V, IV 
d. I, III, II, IV, V  e.tpil njhpatpy;iy 

 
7. The Militant Youth organisation called the Naujawan Bharat Sabha was founded by 

a. Raja Guru    b. Bhagat Singh  c. Sukhdev 
d. Chandra Shekar Azad  e. Answer not known 
et [thd; ghuj; rgh vd;w jPtputhj ,isQh; mikg;G __________ My; epWtg;gl;lJ 
a. ,uh[ FU    b. gfj; rpq;   c. Rf;Njt; 
d. re;jpu Nrfh; Mrhj;  e. tpil njhpatpy;iy 
 

8. Which of the following statements is/are correct about Bhagat Singh? 
I. In April 1926, Bhagat Singh established contact with Sohan Singh Josh and 

through him the ‘Kirti Kisan Party’ which brought out the monthly magazine 
Kirti in Punjabi. 

II. In 1927, Bhagat Singh joined the editorial board of Kirti. 
III. In 1928, Bagat Singh was first arrested on charges of association with the Kakori 

case. 
a. I, II   b. I, III    c. II, III 
d. I, II, III  e. Answer not known 
gfj;rpq; njhlh;ghd gpd;tUk; $w;WfSs; rhpahdJ vJ? 
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I. Vg;uy; 1926 ,y;> gfj; rpq;> Nrh`hd; rpq; N[h~pald; njhlh;ig Vw;gLj;jp mth; 
%yk; gQ;rhgp nkhopapy; vOjg;gl;l fPh;j;jp vDk; khj ,jio fPh;j;jp fp~hd; 
fl;rpahy; ntspaplitj;jhh; 

II. 1927 ,y; gfj;rpq; fPu;j;jpapd; Mrpupah; FOtpy; Nrh;e;jhh; 
III. 1928 ,y; fNfhhp tof;fpy; gfj;rpq; Kjypy; ifJ nra;ag;gl;lhh;. 
a. I, II   b. I, III    c. II, III 
d. I, II, III  e. tpil njhpatpy;iy  
 

9. Choose the correct events related to central Legislative Assembly bomb case? 
I. Bhagat Singh and Baktu Keshwar Dutt threw a bomb on 22th April 1929 in the 

central legislative assembly. 
II. It was done in protest against the passing of repressive bills, the public safety bill, 

and the Trade Dispute bill. 
III. The aim, as their leaflet explained, was not to kill but to make the deaf hear, and 

to remind the foreign government of its callous exploitation 
a. I, II, III   b. I, II only   c. I, III only 
d. II, III only   e. Answer not known 
kj;jpa rl;lg;Nguit ntbFz;L tof;F  njhlGila rhpahd epfo;Tfisj; 
Njh;e;njLf;fTk;. 
I. gfj;rpq; kw;Wk; gf;JNf~;tu; 1929 Mk; Mz;L Vg;uy; 22 Mk; Njjp kj;jpa 
rl;lg;Nguit kPJ xU ntbFz;il tPrpdh; 
II. mlf;FKiw kNrhjhf;fs;> nghJ ghJfhg;G kNrhjh kw;Wk; th;j;jf tpthj kNrhjh 
Mfpait epiwNtw;wg;gl;ljpw;F vjph;g;G njhptpf;Fk; tifapy; ,J elj;jg;gl;lJ 
III. me;epa murhq;fj;jpd; mjPj Ruz;liy fhJNfshNjhUf;F epidT+l;Ltjw;fhfNt 
kl;LNk jtpu mth;fis nfhy;tjw;F my;;y vd mth;fspd; Jz;Lg;gpuRuk; tpsf;fpaJ 
a. I> II> III   b. I> II kl;Lk;   c. I> III kl;Lk; 
d. II> III kl;Lk;  e. tpil njhpatpy;iy 
 

10. Which of the following essay was written by Bhagat Singh in 1930 while he was 
imprisoned in the Lahore Central Jail? 
a. Jail Diary and other writings 
b. Why I am an Atheist 
c. Prison Diary 
d. To young political workers 
e. Answer not known 
1930 Mk; Mz;L yh$h; kj;jpa rpiwapy; gfj; rpq; milf;fg;gl;bUe;j NghJ mth; 
gpd;tUk; fl;Liufspy; vij vOjpdhh;? 
a. rpiw ehl;Fwpg;G kw;Wk; gpw Mtzq;fs; 
b. ehd; Vd; ehj;jpfdhNdd; 
c. rpiw ehl;Fwpg;G 
d. ,isa murpay; nray;ghl;lhsu;fSf;F 
e. tpilnjhpatpy;iy 
 

11. Arrange the following incidents in the chronological order. 
I. Formation of Hindustan Socialist Republic Association. 
II. Naujawan Bharat Sabha  
III. Kakori Robbery Case 
IV. Formation of Hindustan Republic Association. 
V. Lahore conspiracy case. 
a. I, II, III, IV, V   b. IV, III, II, V, I  c. IV, III, II, I, V  
d. IV, II, III, I, V    e. Answer not known 
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gpd;tUk; rk;gtq;fis fhythpirg;gLj;jTk; 
I. ,e;J];jhd; Nrhryp];l; FbauR rq;fj;jpd; cUthf;fk;  

II. et[thd; ghuj; rgh 
III. fNfhhp nfhs;is tof;F 
IV. ,e;J];jhd; FbauR rq;fk; cUthf;fk; 
V. yh$h; rjp tof;F 
a. I, II, III, IV, V   b. IV, III, II, V, I  c. IV, III, II, I, V  
d. IV, II, III, I, V    e. tpil njhpatpy;iy 
 

12. The scientific policy resolution was passed by the Loksabha in  
a. April 1957    b. March 1958  c. January 1983  
d. May 1959    e. Answer not known 
kf;fsitapy; mwptpay; nfhs;ifj; jPh;khdk; epiwNtw;wg;gl;lJ 
a. Vg;uy; 1957    b. khh;r; 1958   c. [dthp 1983 
d. Nk 1959    e. tpil njhpatpy;iy 
 

13. How many pairs are correctly matched? 
I. atomic energy commission       - 1948 
II. department of atomic energy       - 1958 
III. India’s first nuclear reactor in Trombay    - 1956  
IV. Indian national committee for space research (INCOSPAR) - 1962 
a. one pair   b. Two pairs   c. Three pairs  
d. four pairs   e. Answer not known 
vj;jid ,izfs; rhpahf nghUe;jpAs;sd? 
I. mZ Mw;wy; Mizak;       - 1948 
II. mZ Mw;wy; Jiw        - 1958 
III. ,e;jpahtpd; Kjy; mZ ciy buhk;Ngtpy;    - 1956 
IV. tpz;ntsp Muha;r;rpf;fhd ,e;jpa Njrpa FO (INCOSPAR) - 1962 
a. xU ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

14. Who published the journal called, ‘congress socialist? 
a. Jaya Prakash Narayan   b. Acharya Narendra Dev 
c. Ram Manohar Lohia   d. Achut Patwardhan 
e. Answer not known 
‘fhq;fpu]; Nrhrpayp];l;’ vd;w gj;jphpf;ifia ntspapl;lth;ahh;? 
a. n[ag;gpufh~; ehuhaz;   b. Mr;rhh;ah eNue;jpu Njt; 
c. uhk; kNdhfh; Nyhfpah   e. mr;Rj;  gl;th;jd; 
e. tpil njhpatpy;iy 
 

15. Which of the following statements is/ are correct about Jayaprakash Narayan? 
I. He is also known as the “Hero of Quit India Movement”. 
II. He was awarded Bharat Ratna Award in 1999. 
III. He was the recipient of the Magsaysay award. 
IV. He initiated a movement, total revolution in 1974. 
a. I, II and III    b. II, IV only   c. II, III and IV 
d. all the above    e. Answer not known 
n[ag;gpufh~; ehuhazd; gw;wpa $w;Wfspy; rhpahdJ vJ 
I. mth; nts;isaNd ntspNaW ,af;fj;jpd; ehafd; vd miof;fg;gLfpwhh; 
II. mth; 1999 y; ghuj uj;dh tpUJ ngw;whh; 
III. kfNrnr tpUJ ngw;wth; 
IV. mth; 1974 y; KOg;Gul;rp vd;w ,af;fj;ij njhlq;fpdhh; 
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a. I> II kw;Wk; III   b. II> IV kl;Lk;   c. II> III kw;Wk; IV 
d. midj;Jk;    e. tpil njhpatpy;iy 
 

16. Jawaharlal Nehru, imprisoned for the first time in  
 a. Kheda satyagraha     b. Non-cooperation movement 
 c. Bardoli Satyagraha    d. Civil disobedience movement    
 e. Answer not known 

[t`h;yhy; NeU Kjypy; rpiwapy; milf;fg;gl;lJ 
a. Nfjh rj;ahfpufk;   b. xj;Jioahik ,af;fk; 
c. gh;Njhyp rj;ahfpufk;  d. rl;l kWg;G ,af;fk; 
e. tpil njhpatpy;iy 

 
17. Who among the following leader criticised the government of India Act 1935 as the “act 

of slavery “?  
 a. sardar Vallabhai patel   b. Jawaharlal Nehru c. C.R. Das   

d. Mahatma Gandhi   e. Answer not known  
 1935 ,e;jpa muRr; rl;lj;ij mbikg; gl;lak; vd;W $wpath; ahh;? 
 a. rh;jhh; ty;ygha; gNly;  b. [t`h;yhy; NeU  c. CR jh]; 
 d. kfhj;kh fhe;jp   e. tpil njhpatpy;iy 

 

18. The ‘Delhi Manifesto’ was issued on. 
 a. October 31,1929   b. November 1,1929  c. December 30, 1929 

d. November 2,1929   e. Answer not known 
  nly;yp mwpf;if ntspaplg;gl;l ehs; 
 a. mf;Nlhgh; 31> 1929  b. etk;gh; 1> 1929  c. brk;gh; 30> 1929 
 d. etk;gh; 2> 1929   e. tpil njhpatpy;iy 

 

19. The first Independence in British India was celebrated on 
 a. December 31, 1929  b. December 30, 1930 c. August 15, 1947 
 d. January 26, 1930   e. Answer not known 
 gphpl;b]; ,e;jpahtpy; Kjy; Rje;jpu jpdk; nfhz;lhlg;gl;lJ 
 a. brk;gh; 31> 1929   b. brk;gh; 30> 1930  c. Mf];l; 15> 1947 
 d. [dthp 26> 1930   e. tpil njhpatpy;iy 

 

20. How many pairs are correctly matched? 
 I. Tamil Nadu - C. Rajagopalachari 
 II. Malabar  - K. Kelappan 
 III. Orissa  - Gopal bandhu Chaudhri 
 IV. Bengal  - Bipin Chandrapal 

a. one pair   b. two pairs   c. three pairs 
d. four pairs   e. Answer not known      
vj;jid ,izfs; rhpahf nghUe;jpAs;sd? 

 I. jkpo;ehL  - C. uh[Nfhghyr;rhp 
 II. kyghh;  - K. Nfsg;gd; 
 III. xhprh   - Nfhghy; ge;J nrsj;hp 
 IV. tq;fhsk;  - gpgpd; re;jpughy; 

a. xU ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

21. Who among the following leader is called as Badshah Khan? 
 a. Khan Abdul Gaffar Khan  b. Maulana Abul Kalam Azad 
 c. Mohammad Ali Jinnah   d. Rahmat Ali  
 e. Answer not known 
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 gpd;tUgth;fspy; ghl;~h fhd; vdg;gLgth; ahh;? 
 a. fhd; mg;Jy; fh/gh; fhd;  b. nksyhdh mGy; fyhk; Mrhj; 

 c. KfkJ myp [pd;dh   d. u ;̀kj; myp  
 e. tpil njhpatpy;iy 

 
22. Who was instrumental in setting up a national planning committee? 
 a. Pattabi Sitaramaiah   b. Subhash Chandra Bose  c. Mahatma Gandhi 
 d. Rajendra Prasath   e. Answer not known 
 Njrpa jpl;lf;FOit mikg;gjpy; Kf;fpa gq;F tfpj;jth; ahh;? 
 a. gl;lhgp rPj;jhuhka;ah  b. Rgh];re;jpu Ngh];  c. kfhj;kh fhe;jp  
 d. uhN[e;jpu gpurhj;   e. tpil njhpatpy;iy 
 
23. Which of the following statements is/are correct? 
 1. Bose was fully aware of Gandhi’s importance as a symbol of Indian nationalism. 
 2. Subhash Chandra Bose called Mahatma Gandhi as “The father of our nation”. In a   
 radio broadcast from German in 1944. 
 a. 1 only    b. 2 only   c. 1 and 2 
 d. None of the above  e. Answer not known 
 gpd;tUk; $w;Wfspy; rhpahdJ vJ? 

1. ,e;jpa Njrpaj;jpd; milahskhf fhe;jpapd; Kf;fpaj;Jtj;ij Ngh]; KOikahf 
mwpe;jpUe;jhh; 
2. 1944 y; n[h;kd; nkhop thndhyp xypgug;gpy; Rgh]; re;jpuNgh]; kfhj;kh fhe;jpia 
“ekJ Njrj;jpd; je;ij” vd mioj;jhh; 
a. 1 kl;Lk;    b. 2 kl;Lk;    c. 1 kw;Wk; 2 
d. Nkw;fz;l vJTkpy;iy  e. tpil njhpatpy;iy 

 
24. The first annual session of the congress under the presidentship of Maulana Abul Kalam 

Azad held in  
a. New Delhi   b. Ramgarh   c. Calcutta  
d. Bombay    e. Answer not known 
 nksyhdh mGy; fyhk; Mrhj; jiyikapy; fhq;fpurpd; Kjy; Mz;L mkh;T 
eilngw;wJ ,lk;  
a. GJjpy;yp   b. uhk;fh;   c. fy;fj;jh 
d. gk;gha;    e. tpil njhpatpy;iy 
   

25. The Muslim league passed a resolution for formation of Pakistan in ____. 
a. Lahore session, 1940 b. Delhi session, 1929  c. Karachi session, 1943 
d. Dhaka session, 1941 e. Answer not known 
K];yPk; yPf; ghfp];jhd; mikg;gjw;fhd; jPh;khdk; epiwNtw;wpa ,lk;? 
a. yh$h; khehL> 1940 b. nly;yp khehL> 1929  c. fuhr;rp khehL> 1943 
d. jhf;fh khehL> 1941 e. tpil njhpatpy;iy 

 
26. Find compound interest on Rs. 12,600 for n = 2 years at r = 10% per annum compounded 

annually 
a. 15, 246   b. 2, 466   c. 2, 646   
d. 1, 386   e. Answer not known 
mry; &. 12>600> Mz;L tl;b tPjk; r = 10%, n = 2 Mz;Lfs;> Mz;Lf;nfhU Kiw tl;b 
fzf;fplg;gl;lhy;> $l;L tl;biaf; fhz;f. 
a. 15,246   b. 2,466   c. 2,646   
d. 1,386   e. tpil njhpatpy;iy 
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27. The cost of a machine is Rs. 18,000 and it depreciates at 16
2

3
% annually. Its value after 

two years will be 
a. Rs. 12,000   b. Rs. 12,500   c. 15,000 
d. Rs. 16,000   e. Answer not known 

Xh; ,ae;jpuj;;jpd; tpiy &. 18>000 mJ Mz;Lf;F 16
2

3
% tPjk; Nja;khdk; milfpwJ. 2 

Mz;LfSf;Fg; gpwF mjd; kjpg;G ———— Mf ,Uf;Fk;. 
a. Rs. 12,000   b. Rs. 12,500   c. 15,000 
d. Rs. 16,000   e. tpil njhpatpy;iy 

 
28. Sujatha borrows Rs. 12,500 at 12% per annum for 3 years at simple interest and Radhika 

borrows the same amount for the same period at 10% per annum compounded annually. 
Who pays more interest and by how much? 

a. Sujatha, ₹ 263.50  b. Radhika, ₹ 263.50   c. Radhika, ₹ 362.50  

d. Sujatha, ₹ 362.50  e. Answer not known 
R[hjh &.12>500 I Mz;nlhd;Wf;Fj; jdp tl;b tPjk; 12% tPjk; 3 Mz;Lfspy; nrYj;j 
fld; thq;fpdhh;. uhjpfh mNj njhifia mNj fhyj;jpw;F Mz;nlhd;Wf;F 10% $l;L 
tl;b tPjk; fld; thq;fpdhh;. mjpf tl;b nrYj;Jgth; ahh;? vt;tsT? 
a. R[hjh, ₹ 263.50  b. uhjpfh, ₹ 263.50   c. uhjpfh, ₹ 362.50  

d. R[hjh, ₹ 362.50  e. tpil njhpatpy;iy 
 

29. The time taken for ₹4400 to become ₹4851 at 10%, compounded half yearly is _______. 
a. 6 months   b. 1 year   c. 1 ½ years   
d. 2 years  e. Answer not known 
10% Mz;L tl;bapy;> miuahz;Lf;nfhU Kiw tl;bf; fzf;fplg;gl;lhy;> Rs. 4400 
MdJ Rs.4851 Mf  ________ MFk;                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                     
a. 6 khjq;fs;   b. 1 Mz;L   c. 1 ½ Mz;Lfs;   
d. 2 Mz;Lfs; e. tpil njhpatpy;iy  

 
30. A sum of money becomes 1.331 times in 3 years as compound interest. The rate of 

interest is 
a. 5%  b. 7.5%  c. 8%  d. 10% e. Answer not known 
xU njhif %d;W tUlj;jpy; $l;L tl;b tpfpjj;jpy; 1.331 klq;fhfpwJ vd;why; mjd; 
tl;b tpfpjk; vt;tsT? 
a. 5%  b. 7.5%  c. 8%  d. 10% e. tpil njhpatpy;iy 

 
 
31. The August offer of British government is mainly proposed for _____ 

a. India’s support for first World War  b. India’s support for second World War 
c. Giving concession to India   d. Dividing Hindu Muslim Unity. 
e. Answer not known 
gpupl;b]; murpd; Mf];l; nfhil Kf;fpakhf ________ f;fhf Kd;nkhopag;gl;lJ 
a. Kjy; cyfg;Nghhpy; ,e;jpahtpd; MjuT  
b. ,uz;lhk; cyfg;Nghhpy; ,e;jpahtpd; MjuT 
c. ,e;jpahtpw;F rYifaspj;jy; 
d. ,e;J – K];ypk; xw;Wikia gpsT gLj;Jjy; 
e. tpil njhpatpy;iy 
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32. Which of the following were the aims of launching individual satyagraha? 
I. to show that nationalist patience was not due to weakness. 
II. to express people’s feeling that they were not interested in the war. 
III. to give another opportunity to the government to congress demand peacefully.  

 a. I, II only   b. I, III only   c. II, III only   
d. All the above   e. Answer not known 
gpd;tUtdtw;wpy; jdpegh; rj;ahfpufj;ij njhlq;Ftjw;fhd Nehf;fq;fs; ahit? 
I. Njrpathjpfspd; nghWikahdJ gytPdk; my;y vd;gijf; fhl;l Ntz;Lk; 
II. kf;fs; Nghhpy; Mh;tk; fhl;ltpy;iy vd;w czh;it ntspg;gLj;j Ntz;Lk; 
III. fhq;fpurpd; Nfhhpf;ifia mikjpahd Kiwapy; epiwNtw;w muRf;F kw;nwhU 
tha;g;G toq;f Ntz;Lk; 
a. I> II kl;Lk;   b. I> III kl;Lk;   c. II> III kl;Lk; 
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 

 
33. Which of the following is also known as the ‘Delhi Chalo Movement’? 

a. Civil disobedience movement   b. INA’s struggle against British rule in India 
c. Individual Satyagraha   d. Quit India Movement  
e. Answer not known 
gpd;tUtdtw;wpy; ‘nly;yp rNyh ,af;fk;;’ vd miof;fg;gLtJ? 
a. rl;lkWg;G ,af;fk;   
b. ,e;jpahtpy; gphpl;b~; Ml;rpf;F vjpuhd INA tpd; Nghuhl;lk; 
c. jdpegh; rj;ahfpufk; 
d. nts;isaNd ntspNaW ,af;fk; 
e. tpil njhpatpy;iy 

 
34. Who was the first satyagrahi of the Individual Satyagraha in Tamil Nadu? 

a. K. Kamaraj    b. S. Satyamoorthy  c. C. Rajagopalachari 
d. T.S.S. Rajan   e. Answer not known 
jkpo;ehl;by; jdpegh; rj;jpahfpufj;jpd; Kjy; rj;jpahfpufp ahh;?  
a. K. fhkuh[h;   b. S. rj;jpa%h;j;jp  c. C. ,uh[Nfhghyhr;rhhp 
d. T. S. S. ,uh[d;   e. tpil njhpatpy;iy 
 

35. “The Good Boatman” Book was written by  
a. Gopalakrishna Gandhi   b. Mahatma Gandhi  c. Rajmohan Gandhi 
d. Gopala Krishna Gokhale  e. Answer not known 
‘xU ey;y glNfhl;b’ (The Good Boatman) vd;w Gj;jfj;ij vOjpath; 
a. NfhghyfpU~;z fhe;jp  b. kfhj;kh fhe;jp  c. uh[;Nkhfd; fhe;jp 
d. Nfhghy fpU~;z NfhFNy e. tpil njhpatpy;iy 
  

36. Choose the correct statements regarding Cripps Mission. 
1. It was sent to seek the active cooperation of Indians in World War II. 
2. It promised India both dominion status and constitution making body after the war. 
3. It promised complete independence for India. 
a. 1, 2 only   b. 1, 3 only     c. 2, 3 only  
d. All the above   e. Answer not known 
fphpg;]; jpl;lk; njhlh;ghd rhpahd $w;Wfisf; fhz;f 
1. ,uz;lhk; cyfg;Nghhpy; ,e;jpah;fspd; jPtpu xj;Jiog;igg; ngw ,J mDg;gg;gl;lJ 
2. NghUf;F gpwF ,e;jpahtpw;F nlhkpdpad; me;j];J kw;Wk; murpayikg;G cUthf;Fk; 
mikg;G Mfpa ,uz;bw;F cWjpaspj;jJ 
3. ,e;jpahtpw;F KO Rje;jpuj;ij cWjpaspj;jJ 
a. 1> 2 kl;Lk;   b. 1> 3 kl;Lk;   c. 2> 3 kl;Lk; 
d. Nkw;fz;l midj;Jk;  e. tpil njhpatpy;iy 
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37. Who coined the term “Quit India”? 
a. Mahatma Gandhi  b. Rahmat Ali    c. Aruna Asaf Ali 
d. Yusuf Meher Ali  e. Answer not known 
“nts;isaNd ntspNaW” vd;w nrhy;iy cUthf;fpath; ahh;? 
a. kfhj;kh fhe;jp  b. u`;kj; myp   c. mUzh Mrg; myp 
d. A+rg; nk`h; myp  e. tpil njhpatpy;iy 

 
38. Who was popularly known as the “Grand old Lady” of the Independence Movement? 

a. Usha Mehta    b. Sarojini Naidu  c. Aruna Asaf Ali 
d. Madam Bikaji Gama   e. Answer not known 
Rje;jpu ,af;fj;jpd; “KJngUk; ngz;kzp” vdg; gpugykhf mwpag;gLth; ahh;? 
a. c~h Nkj;jh   b. rNuh[pdp ehAL  c. mUzh Mrg; myp 
d. Nklk; gpfh[p fhkh  e. tpil njhpatpy;iy 
 

39. Choose the correct statements about Usha Mehta? 
I. Mehta along with her associates started secret congress radio in August 1942. 
II. The Mehta’s radio broadcast the voice messages of Gandhi and several other leaders 
to the public. 
III. She was released in 1947 from the Jail.  
a. I, II only     b. I, III only    c. II, III only  
d. All the above    e. Answer not known 
c~h Nkj;jh gw;wpa rhpahd $w;Wfisf; fhz;f  
I. Nkj;jh jdJ $l;lhspfSld; Nrh;e;J Mf];l; 1942 ,ufrpa fhq;fpu]; thndhypiaj; 
njhlq;fpdhh; 
II. Nkj;jhtpd; thndhyp fhe;jp kw;Wk; gy jiyth;fspd; Fuy; nra;jpfis 
nghJkf;fSf;F xypgug;gpaJ. 
III. mth; 1947 y; rpiwapypUe;J tpLtpf;fg;gl;lhh; 
a. I> II kl;Lk;    b. I, III kl;Lk;   c. II> III kl;Lk; 
d. Nkw;fz;l midj;Jk;  e. til njhpatpy;iy 
 

40. Consider the following 
Assertion (A) : The communists did not join the Quit India Movement. 
Reason (R) : Russia attacked by Nazi Germany. So, the communists began to support 

the British War against Germany. 
a. Both A and R are correct and R is correct explanation. 
b. A and R are correct and R does not explain A 
c. A is true, R is false 
d. A is false, R is true 
e. Answer not known 
gpd;tUk; $w;Wfis Muhatk; 
$w;W (A) : nts;isaND ntspNaW ,af;fj;jpy; fk;A+dp];Lfs; gq;Nfw;ftpy;iy 
fhuzk; (R): eh[p n[h;kdpahy; u~;ah jhf;fg;gl;lJ. vdNt fk;A+dp];Lfs; n[h;kdpf;F 
vjpuhd gphpl;b]; Nghiu Mjhpj;jdh; 
a. A kw;Wk; R ,uz;Lk; rhp kw;Wk; R MdJ rhpahd tpsf;fkhFk; 
b. A kw;Wk; R ,uz;Lk; rhp kw;wk; R MdJ A d; rhpahd tpsf;fky;y 
c. A rhp> R jtW  
d. A jtW> R rhp 
e. tpil njhpatpy;iy 

 

41. Choose the correct arrangement of the following events in a chronological order  
1. Direct Action Day   2. Wavell plan 
3. Mount Batten Plan  4. India Independence Act  
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a. 1, 2, 3, 4    b. 1, 2, 4, 3    c. 2, 1, 3, 4   
d. 2, 1, 4, 3    e. Answer not known 
gpd;tUk; epfo;Tfisf; fhythpirg;gLj;Jf 
1. Neub eltbf;if ehs;  2. Ntty; jpl;lk; 
3. nksz;l; Ngl;ld; jpl;lk;  4. ,e;jpa Rje;jpur; rl;lk; 
a. 1, 2, 3, 4    b. 1, 2, 4, 3    c. 2, 1, 3, 4   
d. 2, 1, 4, 3    e. tpil njhpatpy;iy 

 
42. Choose the correct statements about Rajaji formula. 

I. It was prepared by C. Rajagopalachari for congress, Muslim league cooperation in 
1944 

II. It was a tacit acceptance of the leagues demand for Pakistan. 
III. Gandhi rejected the formula. 
a. I, II only    b. I, III only    c. II, III only   
d. All the above   e. Answer not known 
uh[h[p #j;jpuk; njhlh;ghd rhpahd $w;Wfisf; fhz;f  
I. ,J fhq;fpu];> K];ypk; yPf; xj;Jiog;gpw;fhf rp.uh[Nfhghyhr; rhhpahy; 1944y; 

jahhpf;fg;gl;lJ 
II. ,J ghfp];jhDf;fhd yPf; Nfhhpf;ifia kiwKfkhf Vw;Wf;nfhz;lJ 
III. fhe;jp ,jid epuhfhpj;jhh; 
a. I> II kl;Lk;    b. I> III kl;Lk;   c. II> III kl;Lk; 
d. Nkw;fz;l midj;Jk;  e. tpil njhpatpy;iy 

 
43. Choose the correct statements about Rajaji. 

1. He was the first and last Indian governor general of free India. 
2. He was one of the first recipients of the Bharat Ratna. 
3. He was the recipient of the Sahitya Academy Award for his literary work 

Chakravarti Thirumagan in 1958.  
a. 1, 2 only    b. 1, 3 only   c. 2, 3 only 
d. All the above    e. Answer not known 
uh[h[p gw;wpa rhpahd $w;Wfisf; fhz;f 
1. Rje;jpu ,e;jpahtpd; Kjy; kw;Wk; filrp ,e;jpa fth;dh; n[duyhf ,Ue;jhh; 
2. ghuj uj;dh tpUJ ngw;w Kjy; egh;fspy; ,tUk; xUth; 
3. 1958 y; jdJ ,yf;fpag; gzpahd rf;uth;j;jp jpUkfDf;fhf rhfpj;a mfhlkp tpUJ 

ngw;why; 
a. 1> 2 kl;Lk;   b. 1> 3 kl;Lk;   c. 2> 3 kl;Lk; 
d. Nkw;fz;l midj;Jk;  e. tpil njhpatpy;iy 

 
44. The Shimla conference was convened by  

a. Willingdon   b. Linlithgow   c. Wavell 
d. Mount Batten    e. Answer not known 
rpk;yh khehl;ilf; $l;bath; 
a. tpypq;ld;    b. ypd;ypj;Njh  c. Ntty; 
d. kTz;l;Ngl;ld;   e. tpil njhpatpy;iy 

 
45. Choose the correct statements regarding main proposals of Wavell plan. 

1. With the exception of the governor general and Commander-in-chief all the members 
of the executive council were to be Indians 

2. Caste Hindus and Muslims were to have equal representation. 
a. 1 only    b. 2 only   c. 1 and 2 
d. None of the above   e. Answer not known 
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Ntty; jpl;lj;jpd; Kf;fpa Kd;nkhopTfs; gw;wpa rhpahd $w;Wfisf; fhz;f 
1. fth;dh; n[duiyj; kw;Wk; jiyik jsgjp jtpu midj;J eph;thff; FO 

cWg;gpdh;fSk; ,e;jpah;fshf ,Uf;f Ntz;Lk; 
2. rhjp ,e;Jf;fSf;Fk; K];ypk;fSf;Fk; rkkhd gpujpepjpj;Jtk; ,Uf;f Ntz;Lk; 
a. 1 kl;Lk;    b. 2 kl;Lk;   c. 1 kw;Wk; 2 
d. Nkw;fz;l vJTkpy;iy  e. tpil njhpatpy;iy 
  

46. The term Mukti Sena is also known as ____. 
a. Forward Bloc Party  b. Freedom Army   c. British Army 
d. Forward Journal   e. Answer not known 
Kf;jp Nrdh vd;w miof;fg;gLtJ? 
a. ghh;th;L gpshf;fl;rp  b. Rje;jpu ,uhZtk; c. gphpl;b]; ,uhZtk; 
d. /ghh;thh;L ,jo;   e. tpil njhpatpy;iy 

 
47. The idea of creating an army out of the Indian prisoners of war was originally proposed 

by 
a. Netaji Subhash Chandra Bose b. Mohan Singh  c. Rash Bihari Bose   
d. Bhagat Singh    e. Answer not known 
,e;jpag; Nghh;f; ifjpfs; %yk; ,uhZtj;ij cUthf;Fk; vz;zj;ij Kjypy; 
Kd;nkhope;jth;? 
a. Nejh[p Rgh~;re;jpu Ngh~; b. Nkhfd; rpq;  c. uh~; gp`hhp Ngh~; 
d. gfj; rpq;    e. tpil njhpatpy;iy 
 

48. Choose the correct statements about Rash Behari Bose  
1. He had fled to Japan in 1916 following the failed revolutionary activities. 
2. In Japan, Rash Behari Bose became a naturalised citizen. 
3. He became active in pan Asian circles. 
a. 1, 2 only    b. 1, 3 only   c. 2, 3 only 
d. All the above   e. Answer not known 
uh~;gpfhhp Ngh]; gw;wpa rhpahd $w;Wfisf;  fhz;f 
1. Njhy;tpaile;j Gul;rpfu eltbf;iffisj; njhlh;e;J mth; 1916 y; [g;ghDf;Fj; 

jg;gpr; nrd;wpUe;jhh; 
2. [g;ghdpy;> uh~; gpfhhp Ngh]; xU ,aw;ifahd Fbkfdhf Mdhh; 
3. mth; Mrpah KOtJk; kpfj; jPtpukhf nray;gl;lhh; 
a. 1> 2 kl;Lk;   b. 1> 3 kl;Lk;  c. 2> 3 kl;Lk; 
d. midj;Jk;    e. tpil njhpatpy;iy 

 
49. The famous slogan of Subhash Chandra Bose “give me blood, I will give you freedom” 

was given in  
a. Singapore     b. Japan    c. Malaya   
d. Burma     e. Answer not known 
Rgh]; re;jpu Ngh]pd; Gfo;ngw;w Kof;fkhd “,uj;jj;ij jhUq;fs;> cq;fSf;F 
Rje;jpuk; jUfpNwd;” vq;fpUe;J Koq;fg;gl;lJ? 
a. rpq;fg;G+h;    b. [g;ghd;    c. kyhah 
d. gh;kh    e. tpil njhpatpy;iy 

 
50. Which of the following commission is associated to the inquiry of Subhash Bose’s death? 

a. Shah Nawaz commission b. Khosala commission 
c. Mukherjee commission  d. All the above   e. Answer not known 
Rgh]; re;jpu Ngh]pd; ,wg;G tprhuizAld; njhlh;Gila Mizak; vJ? 
a. ~h eth]; Mizak;  b. Nfh];yh   c. Kfh;[p Mizak; 
d. Nkw;fz;l midj;Jk;   e. tpil njhpatpy;iy  
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51. The newspaper, ‘forward’ was founded by  
a. Chittaranjan Das  b. Motilal Nehru   c. Subhash Chandra Bose 
d. Mahatma Gandhi  e. Answer not known 
/ghh;thh;L nra;jpj;jhis epWtpath; ahh;? 
a. rpj;juQ;rd; jh];  b. Nkhjpyhy; NeU  c. Rgh]; re;jpuNgh]; 
d. kfhj;kh fhe;jp  e. tpil njhpatpy;iy 
 

52. “Subhash Chandra Bose Aapda Prabhandhan Puraskar” is awarded for contributions in 
the field of _____. 
a. Agriculture    b. Defence     c. Disaster Management 
d. Science and Tech.    e. Answer not known 
“Rgh]; re;jpu Ngh]; Mg;jh gpuge;jd; Gu];fhh;” tpUJ gpd;tUk; vjd; gq;fspg;Gf;fhf 
toq;fg;gLfpwJ. 
a. tptrhak;     b. ghJfhg;G   c. Nghplh; Nkyhz;ik 
d. mwptpay; kw;Wk; njhopy;El;gk;  e. tpil njhpatpy;iy 
 

53. Dr. B. R. Ambedkar was the founder of  
a. Independent Labour Party  b. Scheduled castes federation 
c. Republican party of India  d. All the above  
e. Answer not known 
lhf;lh; BR mk;Ngj;fh; gpd;tUk; vjd; epWtdh; Mthh;? 
a. Rje;jpu njhopyhsh; fl;rp   b. gl;bay; ,dj;jth; $l;likg;G 
c. ,e;jpaf; FbauRf; fl;rp   d. Nkw;fz;l midj;Jk; 
e. tpil njhpatpy;iy 
 

54. The Swatantra party was formed in   
a. April 1957   b. August 1957   c. April 1959 
d. August 1959  e. Answer not known 
Rje;juhf; fl;rp cUthf;fg;gl;lJ  
a. Vg;uy; 1957   b. Mf];l; 1957   c. Vg;uy; 1957 
d. Mf];l; 1959  e. tpil njhpatpy;iy 
 

55. Match the following 
A. S. A. Dange     1. Bharatiya Jana Sangh 
B. Shyama Prasad Mukherjee  2. Swatantra Party 
C. Minoo Masani     3. Praja Socialist Party 
D. Asoka Mehta    4. Communist Party of India 
 A B C D 
a.  4 2 1 3 
b.  2 3 1 4 
c.  4 1 2 3  
d.  2 1 3 4  e. Answer not known 
nghUj;Jf 
A. S.A. lhq;Nf    1. ghujpa [d rq;fk; 
B. ~pahk gpurhj; Kfh;[p   2. Rje;jpuhf; fl;rp 
C. kpNdh khrhdp    3. gpu[h Nrhryp];l; fl;rp 
D. mNrhf Nkj;jh    4. ,e;jpa fk;A+dp];l; fl;rp 

A B C D 
a.  4 2 1 3 
b.  2 3 1 4 
c.  4 1 2 3  
d.  2 1 3 4 
e. tpil njhpatpy;iy 
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56. The simple interest on a certain principal for 3 years at 10%p.a is ₹300. Find the 
compound interest accrued in 3 years. 
a. Rs. 300    b. Rs. 313   c. Rs. 331    
d. Rs. 350   e. Answer not known 
Xh; mrYf;F 10% Mz;L tl;bapy;> 3 Mz;LfSf;F fpilf;Fk; jdptl;b Rs.300 vdpy;> 
mjw;Ff; fpilf;Fk; $l;Ltl;biaf; fhz;f. 
a. Rs. 300    b. Rs. 313   c. Rs. 331    
d. Rs. 350   e. tpil njhpatpy;iy 

 
57. In how much time will a sum of Rs 1600 amount to Rs 1852.20 at 5% per annum 

compound interest. 
a. 1year   b. 1 ½ years   c. 2 ½ years   
d. 3 years   e. Answer not known 
Rs.1600 MdJ 5% Mz;L $l;L tl;b tPjj;jpy; vj;jid Mz;Lfspy; Rs.1852.50 MFk;? 
a. 1 Mz;L   b. 1 ½ Mz;Lfs;  c. 2 ½ Mz;Lfs;   
d. 3 Mz;Lfs;  e. tpil njhpatpy;iy 

 

58. Find the principal if the difference between compound interest and simple interest on it 
at 15% per annum for 3 years is Rs. 1134 
a. Rs. 12, 000×  b. Rs. 16,000   c. Rs. 8,000   
d. Rs. 6,000  e. Answer not known 
15% Mz;L tl;bapy;> 3 Mz;LfSf;F fpilj;j jdp tl;bf;Fk; $l;L tl;bf;Fk; ,ilapy; 
cs;s tpj;jpahrk; &. 1134 vdpy; mriyf; fhz;f. 
a. Rs. 12, 000×  b. Rs. 16,000   c. Rs. 8,000   
d. Rs. 6,000  e. tpil njhpatpy;iy 

 

59. The annual rate of growth in population of a town is 10%. If its present population is 
26620, the population 3 years ago was_________. 
a. 20,000   b. 19,680   c. 21,320    
d. 13,320    e. Answer not known 
xU efuj;jpd; kf;fs;njhif Mz;LNjhWk; 10% mjpfupf;fpwJ. mjd; jw;Nghija 
kf;fs;njhif 26620 vdpy;> 3 Mz;LfSf;F Kd; kf;fs;njhif ________ MFk;. 
a. 20,000   b. 19,680   c. 21,320    
d. 13,320    e. tpil njhpatpy;iy 

 

60. Gayathri invested a sum of Rs.12,000 at 5% p.a. at compound interest. She received an 
amount of Rs.13,230 after ‘n’ years. Find the value of ‘n’. 
a. 2 year b. 3 years  c. 4 years  d. 5 years e. Answer not known 
fhaj;jphp Rs.12>000 I 5% Mz;L $l;L tl;b jUk; xU tq;fpapy; ‘n’ Mz;LfSf;F 
KjyPL nra;jhh;. mth; Kbtpy; Rs.13,230 ngw;whh;. ‘n’ ,d; kjpg;G vd;d? 
a. 2 Mz;L   b. 3 Mz;Lfs;   c. 4 Mz;Lfs;    
d. 5 Mz;Lfs;  e. tpil njhpatpy;iy 
 

61. The Kerala model emphasis focus on  
1. education     2. health    3. Land reforms   
4. effective food distribution  5. Poverty alleviation  
a. 1, 2, 3   b. 1, 2, 4, 5    c. 1, 2, 3, 4 
d. 1, 2, 3, 4, 5   e. Answer not known 
Nfus khjphp Kf;fpakhdjhf tpypAWj;JtJ vJ? 
1. fy;tp     2. Rfhjhuk;   3. epyr;rPh;jpUj;jk; 
4. gaDs;s czT tpepNfhfk; 5. tWik xopg;G 
a. 1, 2, 3   b. 1, 2, 4, 5    c. 1, 2, 3, 4 
d. 1, 2, 3, 4, 5   e. tpil njhpatpy;iy 
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62. Consider the following 
Assertion (A) : Varghese Kurien nick named the milk man of India. 
Reason (R) : he played a crucial role in the story of Gujarat cooperative milk and 
marketing federation Ltd that launched AMUL. 
a. Both A and R are correct and R is correct explanation. 
b. A and R are correct and R does not explain A 
c. A is true, R is false 
d. A is false, R is true 
e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
$w;W (A): th;fP]; Fhpad; ,e;jpahtpd; ghy; kdpjd; vd miof;fg;gl;lhh; 
fhuzk; (R): mKy; epWtdj;ij mwpKfg;gLj;jpa F[uhj; $l;LwT ghy; kw;Wk; 
re;ijg;gLj;jy; $l;;likg;gpy; mth; Kf;fpa gq;F tfpj;jhh; 
a. A> R ,uz;Lk; rhp> R MdJ A d; rhpahd tpsf;fkhFk; 
b. A> R ,uz;Lk; rhp> R MdJ A d; rhpahd tpsf;fky;y 

c. A rhp> R jtW 
d. A jtW> R rhp 
e. tpil njhpatpy;iy 
 

63. The Shimla agreement between Indira Gandhi and Zulfikar Ali Bhutto was signed on 
a. 3 June 1972  b. 2 July 1972  c. 2 June 1972 
d. 6 July 1972   e. Answer not known 
,e;jpuhfhe;jp kw;Wk; Ry;gpfh; myp G+l;Nlh ,ilapyhd rpk;yh xg;ge;jk; ifnaOj;jhd 
ehs; _______ 
a. 3 [{d; 1972  b. 2 [{iy 1972  c. 2 [{d; 1972 
d. 6 [{iy 1972  e. tpil njhpatpy;iy 
 

64. Who gave the strategy the name of non-congresses’? 
a. Jayaprakash Narayan  b. Morarji Desai   c. Ram Manohar Lohia 
d. Charan Singh   e. Answer not known  
fhq;fpu]; my;yhjth;fs; vd;w cj;jpia cUthf;fpath;fs;? 
a. n[agpufh~; ehuhaz; b. nkhuhh;[p Njrha;  c. uhk; kNdhfh; Nyh`pah 
d. ruz;rpq;   e. tpil njhpatpy;iy 
 

65. Who raised the slogan, “Garibi Hatao” 
a. Jawaharlal Nehru  b. Indira Gandhi   c. Mahatma Gandhi  
d. Rajiv Gandhi   e. Answer not known  
fhpgp `l;lhNth vd;w Kof;fj;ij Koq;fpath; ahh;? 
a. [t`h;yhy; NeU  b. ,e;jpuh fhe;jp  c. kfhj;kh fhe;jp 
d. ,uh[pt; fhe;jp  e. tpil njhpatpy;iy 
 

66. The Akali dal party was formed in 
a. 1920 b. 1923 c. 1925  d. 1927 e. Answer not known 
mfhypjs fl;rp cUthf;fg;gl;l Mz;L 
a. 1920 b. 1923 c. 1925  d. 1927 e. tpil njhpatpy;iy 

  

67. What is the correct chronological sequence of the following? 
1. Wood’s Education Despatch 
2. Macaulay’s minute on education 
3. The sergeant Education Report 
4. Indian Education (Hunter Commission) 
a. 2143  b. 2134 c. 1243  d. 4312 e. Answer not known 
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gpd;tUtdtw;Ws; rhpahd fhythpir vd;d? 
1. cl;]; fy;tp mwpf;if 
2. nkf;fhNyapd; fy;tp mwpf;if 
3. rhh;[z;l; fy;tp mwpf;if 
4. ,e;jpa fy;tp (`z;lh; FO) 
a. 2143  b. 2134 c. 1243  d. 4312 e. tpil njhpatpy;iy 

 
68. Match List I with List II  

List I     List II 
 A. Moplah Revolt   1. Kerala 
 B. Pabna Revolt   2. Bihar 
 C. Eka Movement   3. Bengal 
 D. Birsa Munda Revolt  4. Awadh 

A B C D 
a.  1 3 4 2 
b.  2 3 4 1 
c.  1 2 3 4 
d.  3 4 1 2 
e. Answer not known 
nghUj;Jf. 
njhFjp I    njhFjp II 
A. khg;sh Gul;rp   1. Nfush 
B. ghg;dh Gul;rp   2. gPfhh; 
C. <.fh. ,af;fk;   3. tq;fhsk; 
D. gph;rh Kz;lh Gul;rp  4. mNahj;jp 

A B C D 
a.  1 3 4 2 
b.  2 3 4 1 
c.  1 2 3 4 
d.  3 4 1 2 
e. tpil njhpatpy;iy 

 
69. Consider the following statements. 

Assertion (A): The Khilafat Movement did bring the urban Muslims into the fold of the  
National Movement. 

Reason (R): There was a predominant elements of anti-imperialism in both the National  
and Khilafat movement. 

a. Both ‘A’ and ‘R’ are individually true and ‘R’ is the correct explanation of ‘A’. 
b. Both ‘A’ and ‘R’ are individually true but ‘R’ is not the correct explanation of ‘A’. 
c. ‘A’ is true, but ‘R’ is false. 
d. ‘A’ is false, but ‘R’ is true. 
e. Answer not known 
$w;W (A): fpyhgj; ,af;fk; efuj;jpy; thOk; K];yPk;fis Njrpa ,af;fj;jpy; gq;F  

ngwr; nra;jJ. 
fhuzk; (R): Njrpa kw;Wk; fpyhgj; ,af;fj;jpy; VNjr;rjpfhuj;ij vjph;f;Fk; rf;jpfs;  

,Ue;jd. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y 
c. (A) rup> Mdhy; (R) jtW 
d. (A) jtW> Mdhy; (R) rup 
e. tpil njhpatpy;iy 
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70. At the time of India’s independence, Mahatma Gandhi was 
a. a member of congress working committee 
b. not a member of the congress 
c. the president of the congress 
d. the General Secretary of the congress 
e. Answer not known 
,e;jpah Rje;jpukilAk; NghJ 
a. fhq;fpu]; fl;rpapy; cWg;gpduhf ,Ue;jhu; 
b. fhq;fpu]; fl;rpapy; cWg;gpduhf ,y;iy 
c. fhq;fpu]; fl;rpapd; jiyth; 
d. fhq;fpu]; fl;rpapd; nghJr; nrayhsuhf ,Ue;jhu; 
e. tpil njhpatpy;iy 

 
71. What is the correct sequence of the following event? 

1. The August offer  
2. The INA trial 
3. The Quit India movement 
4. The Royal Indian Naval Ratings Revolt 
Select the correct answer using the codes given below: 
a. 1, 3, 2, 4   b. 3, 1, 2, 4   c. 1, 3, 4, 2   
d. 3, 1, 4, 2   e. Answer not known 
fPo;f;fz;l epfo;r;rpapd; fhythpiria nfhLf;fTk;? 
1. Mf];l; nfhil  
2. I.N.A tprhuiz 
3. nts;isaNd ntspNaW ,af;fk; 
4. ,e;jpa fg;gw;gilapd; Gul;rp mwptpg;G  
a. 1, 3, 2, 4   b. 3, 1, 2, 4   c. 1, 3, 4, 2   
d. 3, 1, 4, 2   e. tpil njhpatpy;iy 

 
72. The Congress is tottering to its fall and one of my great ambitions while in India, is to 

assist it to a peaceful demise. This statement is attributed to   
a. Dufferin   b. Lord Curzon  c. Lord Lytton  
d. None of the above e. Answer not known 
,e;jpahtpy; fhq;fpu]; fl;rp js;shb tPo;r;rpaile;J mjd;%yk; ,e;jpahtpy; mikjpf;fhd 
Xh; KbT Vw;gl Ntz;Lk; vd;gNj vd; tpUg;gk; vd;W $wpath; ahh;? 
a. lg;hpd;   b. fh;]d;gpuG   c. ypl;ld; gpuG   
d. vJTkpy;iy  e. tpil njhpatpy;iy  

 
73. It made its proposals in May. It still wanted a united India. There was to be a Federal 

Union composed of British provinces. 
The above quotation is related to 
a. Simon Commission b. Gandhi Irwin Pact  c. Cripps Mission   
d. Cabinet Mission  e. Answer not known 
“Nk khjk; ,e;j jpl;lk; itf;fg;gl;lJ mJ xUq;fpize;j ,e;jpahit tpUk;gpaJ> 
,e;jpah $l;lhl;rp ehlhf Mq;fpyahpd; fPo; ,Uf;Fk; vd;W Nkw;$wpa fUj;J vjDld; 
njhlhGilaJ. 
a. irkd; FO  b. fhe;jp ,h;tpd; xg;ge;jk;  c. fphpg;]; FO   
d. fhgpdl; FO  e. tpil njhpatpy;iy 

 
74. The Governor General who followed a spirited forward policy towards Afghanistan was 

a. Minto   b. Dufferin   c. Elgin   
d. Lytton   e. Answer not known 
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Mg;fhdpaUf;fhd czh;TG+h;thd Kd;Ndhf;fpa nfhs;ifia $wpaJ ahh;? 
a. kpz;Nlh   b. lg;hpd;   c. vy;[pd;   

d. ypl;ld;   e. tpil njhpatpy;iy 
 

75. Which one of the following leaders of the Congress was totally in favour of Cabinet 
Mission plan? 
a. Mahatma Gandhi    b. Jawaharlal Nehru  c. Sardar Patel 
d. Maulana Abul Kalam Azad  e. Answer not known 
fPo;f;fz;l fhq;fpu]; jiyth;fspy; ahh; fhgpdl; J}J FOjpl;lj;jpw;F Mjuthf ,Ue;jhh;? 
a. kfhj;kh fhe;jp    b. [t`h;yhy; NeU  c. rh;jhh; gNly;  
d. nksyhdh mGy; fyhk; M]hj; e. tpil njhpatpy;iy  

 
76. Match List I with List II  

List I      List II 
 A. Chittagong Armoury raid  1. Kalpana Dutt 
 B. Abhinav Bharat    2. Guru Ram Singh 
 C. Anushilan Samiti    3. V.D. Savarkar 
 D. Kuka Movement    4. Aurobindo Ghosh 

A B C D 
a.  1 3 4 2 
b.  1 2 3 4 
c.  3 1 2 4 
d.  3 1 4 2 
e. Answer not known 
nghUj;Jf. 
thpir I     thpir II 
A. rpl;lfhq; MAj nfhs;is   1. fy;gdhjj; 
B. mgpdt; ghuj;    2. FUuhk;rpq; 

C. mDrpyhd; rkpjp    3. V.D. rthh;f;fh; 
D. Ff;fh ,af;fk;    4. mugpe;Njh Nfh~; 

A B C D 
a.  1 3 4 2 
b.  1 2 3 4 
c.  3 1 2 4 
d.  3 1 4 2 
e. tpil njhpatpy;iy 

 
77. Consider the following statements. 

Assertion (A): Lord Linlithgow described the August Movement of 1942 as the most  
serious rebellion since Sepoy Mutiny. 

Reason (R):  Peasants joined the movement in large number in some place. 
a. Both ‘A’ and ‘R’ are individually true and ‘R’ is the correct explanation of ‘A’. 
b. Both ‘A’ and ‘R’ are individually true but ‘R’ is not the correct explanation of ‘A’. 
c. ‘A’ is true, but ‘R’ is false. 
d. ‘A’ is false, but ‘R’ is true. 
e. Answer not known 
gpd;tUtdtw;iw Ma;f. 
$w;W (A): 1942k; Mz;by; eilngw;w Mf];l; ,af;fk; rpg;gha; fyfj;jpw;F gpd; Vw;gl;l 

fLikahd Gul;rp vd;W ypd;ypj;jpq;Nfh gpuG $wpdhh;. 
fhuzk; (R): tptrhapfs; kpf mjpf mstpy; ,e;j Nghuhl;lj;jpy; fye;J nfhz;ldh;. 
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a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y 
c. (A) rup> Mdhy; (R) jtW 
d. (A) jtW> Mdhy; (R) rup 
e. tpil njhpatpy;iy 

 
78. The “Balkan Plan” for fragmentation of India was the brainchild of 

a. W Churchil  b. MA Jinnah   c. Lord Mountbatten   
d. VP Menon   e. Answer not known 
ghy;fd; jpl;lk; vdg;gLk; ,e;jpa rpijT> ahUila %isapy; cjpj;j nfhs;if 
a. W. rh;r;rpy;   b. M.A. [pd;dh  c. kTz;l;Ngl;ld; gpuG   
d. V.P. Nkdd;  e. tpil njhpatpy;iy 

 
79. Consider the following statements about the Indian National Congress 

1. Sarojini Naidu was the first woman to be the President of the Congress. 
2. CR Das was in prison when he functioned as the president of the Congress. 
3. The first Britisher to become the president of the Congress was Alan Octavian (AO) 

Hume. 
4. Alfred Webb was the President of the Congress in 1894. 
Which of these statements are correct? 
a. 1 and 3   b. 2 and 4   c. 2, 3 and 4   
d. 1, 2, 3 and 4  e. Answer not known 
,e;jpa Njrpa fhq;fpui] gw;wp fPNo nfhLf;fg;gl;l fUj;Jf;fis Muha;f. 
1. ,e;jpa Njrpa fhq;fpurpd; Kjy; ngz; jiyth; rNuh[pdp ehAL 
2. C.R. jh]; ,e;jpa Njrpa fhq;fpurpd; jiytuhf ,Ue;jNghJ rpiwapy; ,Ue;jhh; 
3. fhq;fpu]; fl;rpapd; Kjy; gphpl;b~;fhuuhd Myd; Mf;Nlhtpad; `;A+k; fhq;fpu]; 

fl;rpapd; jiytuhf ,Ue;jhh;. 
4. 1894k; Mz;L My;gpul; ntg; fhq;fpu]; fl;rpapd; jiytuhf ,Ue;jhh;. 
,jpy; ve;j $w;W rhp? 
a. 1 kw;Wk; 3   b. 2 kw;Wk; 4   c. 2> 3 kw;Wk; 4    
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 

 
80. Who among the following leaders proposed to adopt complete independence as the goal 

of the congress in the Ahmadabad Session of 1921? 
a. Abul Kalam Azad   b. Hasrat Mohani  c. Jawaharlal Nehru  
d. Mohandas Karamchand Gandhi e. Answer not known 
1921k; Mz;L eilngw;w mfkjhghj; fhq;fpu]; khehl;by; KO Rje;jpuNk jq;fsJ 
,yf;F vd Kd;nkhope;j jiyth; ahh;? 
a. mGy; fyhk; Mrhj;   b. `];uj; nkh`hdp 
c. [t`h;yhy; NeU    d. Nkhfd;jh]; fuhk;re;j; fhe;jp 
e. tpil njhpatpy;iy 

 
81. A London branch of All India Muslim League was published in 1908 under the 

presidency of 
a. Aga Khan   b. Ameer Ali   c. Liaquat Ali Khan    
d. MA Jinnah   e. Answer not known 
1908k; Mz;L ahh; jiyikapy; $ba mfpy ,e;jpa K];yPk; yPf; khehl;by; ,yz;ldpy; 
K];yPk; yPf; fpis gw;wpa mwptpg;G ntspaplg;gl;lJ. 
a. Mfhfhd;   b. mkPh; myp   c. ypahfj; myp fhd;   
d. M.A. [pd;dh  e. tpil njhpatpy;iy 
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82. Who among the following was the President of the All-India States’ Peoples’ Conference 
in 1939? 
a. Jaya Prakash Narayan  b. Sheik Abdullah  c. Jawaharlal Nehru  
d. Sardar Vallabhai Patel  e. Answer not known 
fPo;f;fz;lth;fspy; ahh; 1939k; Mz;by; $ba mfpy ,e;jpa khepy kf;fs; khehl;bd; 
jiytuhf ,Ue;jhh;? 
a. n[agpufh~; ehuhaz;  b. N~f; mg;Jy;yh  c. [t`h;yhy; NeU   
d. rh;jhh; ty;ygha; gNly;  e. tpil njhpatpy;iy 

 
83. With reference to the Indian freedom struggle, which one of the following statements is 

not correct? 
a. Hakim Ajmal Khan was one of the leaders to start a nationalist and militant Ahrar 

movement 
b. when the Indian National Congress was formed, Sayyid Ahmed Khan opposed it 
c. The All-India Muslim League was formed in 1906 vehemently opposed the partition 

of Bengal and separate electorates 
d. Maulana Barkataullah and Maulana Obeidullah Sindhi were among those who 

formed a Provisional Government of India in Kabul. 
e. Answer not known 
,e;jpa tpLjiy Nghuhl;l Fwpg;gpy; fPo;f;fz;l $w;wpy; ve;j $w;W jtwhdJ? 
a. `f;fpk; m[;ky; fhd;> Njrpa kw;Wk; ,uhZt mf;uhh; ,af;fj;jpd; jiyth;fspy; 

xUth; Mthh;. 
b. ,e;jpa Njrpa fhq;fpu]; cUthFk; NghJ ira;aJ mfkJ fhd; mij vjph;j;jhh;. 
c. 1906k; Mz;L mfpy ,e;jpa K];yPk; yPf; fl;rp cUthfpaTld; mJ fLikahf 

tq;fg; gphptpid kw;Wk; jdpj; njhFjp KiwiaAk; fLikahf vjph;j;jJ. 
d. fhG+ypy; jw;fhypf muir mikj;jth;fSs; kTyhdh guhf;fj;Jy;yh kw;Wk; kTyhdh 

xNga;Jy;yh rpe;jp MfpNahh; Kf;fpakhdth;fs; Mthh;fs;. 
e. tpil njhpatpy;iy 
 

84. Which one of the following submitted in 1875 a petition to the House of Commons 
demanding India’s direct representation in the British Parliament? 
a. The Deccan Association   b. The Indian Association 
c. The Madras Mahajan Sabha  d. The Poona Sarvajanik Sabha 
e. Answer not known 
fPo;f;fz;l mikg;Gfspy; ve;j mikg;G 1875k; Mz;by; fhkd;]; rigapy; (nghJ rig) 
,e;jpahtpw;F gpujpepjpj;Jtk; toq;f Ntz;Lk; vd;W kDr; nra;jJ? 
a. jf;fhz rq;fk;    b. ,e;jpa rq;fk; 
c. nrd;id kfh[d rig   d. G+dh rh;t[dpf; rig 
e. tpil njhpatpy;iy 

 
85. Match List I (Acts of Colonial Government of India) with List II (Provisions)  

List I      List II 
A. Charter Act, 1813 1. Set up a board of control in Britain to fully 

regulate the east India. 
B. Regulating Act 1773 2. Company’s trade monopoly in India was ended. 
C. Act of 1858 3. The power to govern was transferred from the 

East India Company to British Crown. 
D. Pitt’s India Act 4. The Company’s Directors were asked to present 

to the British Government all correspondence and 
documents pertaining to the administration of the 
company. 
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A B C D 
a.  2 4 3 1 
b.  1 3 4 2 
c.  2 3 4 1 
d.  1 4 3 2 
e. Answer not known 
nghUj;Jf. 
A. 1813k; Mz;bd; rhrd rl;lk; 1. fpof;fpe;jpa fk;ngdpia 

fl;Lg;gLj;j xU FOit mikj;jy; 
B. 1773k; Mz;bd; xOq;FgLj;Jk; rl;lk; 2. fk;ngdpapd; thzpf Kw;Whpik 

,e;jpahtpy; KbTngw;wJ. 
C. 1858k; Mz;L rl;lk; 3. fpof;fpe;jpa fk;ngdpapd; mjpfhuk;> 

Mq;fpy kd;dUf;F khw;wg;gl;lJ. 
D. gpl; ,e;jpa rl;lk; 4. fk;ngdpapd; midj;J jfty; 

njhlh;Gk; eph;thfk; rk;ge;jkhd 
midj;J gj;jpuq;fSk; ,af;fFeh; 
FOtplk; toq;Fk;gb gphpl;b~; muR 
fl;lisapl;lJ 

A B C D 
a.  2 4 3 1 
b.  1 3 4 2 
c.  2 3 4 1 
d.  1 4 3 2 
e. tpil njhpatpy;iy 

 
86. Find the rate percent per annum, if Rs. 2,000 amount to Rs. 2,315.25 in an year and a half, 

interest being compounded half-yearly. 
a. 5%  b. 8%  c. 10%  d. 13%  e. Answer not known 
miuahz;bw;F xU Kiw tl;b Nrh;f;Fk; Kiwapy; 1½ Mz;Lfspy; Rs.2000 MdJ 
Rs.2315.25 MfpwJ vdpy; Mz;L $l;L tl;b tPjk; fhz;f. 
a. 5%  b. 8%  c. 10%  d. 13%  e. tpil njhpatpy;iy 

 
87. The principal becomes Rs. 2028 in 2 years at 4% p.a. compound interest. Find the 

principal. 
a. Rs. 1775   b. Rs. 1785   c. Rs. 1875 
d. Rs. 1885   e. Answer not known 
Xh; mryhdJ 2 Mz;Lfspy;> Mz;Lf;F 4% $l;L tl;bapy;  Rs. 2028 Mf MfpwJ. vdpy;> 
mriyf; fhz;f 

   a. Rs. 1775   b. Rs. 1785   c. Rs. 1875 
  d. Rs. 1885   d. tpil njhpatpy;iy 
 

88. Find the compound interest on Rs. 20,000 at 15 % per annum for 
1

2
3

 years 

a. Rs. 7, 772.50  b. Rs. 6,772.50   c. Rs. 7, 772 
d. Rs. 2, 777.50  e. Answer not known 

Rs.20,000 -f;F 15 % Mz;L tl;b tPjj;jpw;F 
1

2
3

 Mz;LfSf;Ff; $l;Ltl;biaf; fhz;f 

a. Rs. 7, 772.50  b. Rs. 6,772.50   c. Rs. 7, 772 
d. Rs. 2, 777.50  e. tpil njhpatpy;iy 

 
89. The least number of complete years in which a sum of money put out at 20% compound 

interest will be more than double is 
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a. 3 years   b. 4 years   c. 5 years   
d. 6 years   e. Answer not known 
20% $l;L tl;b tpfpjj;jpy; itf;fg;gl;l xU njhif ,Uklq;Ff;F Nky; Mtjw;F 
Fiwe;jgl;rk; vj;jid KO Mz;Lfs; MFk;? 
 a. 3 Mz;Lfs;  b. 4 Mz;Lfs;  c. 5 Mz;Lfs;   
d. 6 Mz;Lfs;  e. tpil njhpatpy;iy 

 
90. Find the compound interest on Rs. 15,625 for 6 months at 16% per annum compounded 

quarterly 
a. Rs. 1,300  b. Rs. 1,325   c. Rs. 1,250   
d. Rs. 1,275  e. Answer not known 
₹ 15>625-I 6 khjq;fSf;F 16% Mz;L tl;b tPjj;jpy; KjyPL nra;jhy;> tl;b 
fhyhz;Lf;F xU Kiw Nrh;f;fg;gl;lhy;> $l;L tl;biaf; fhz;f. 
a. ₹ 1,300  b. ₹ 1,325   c. ₹ 1,250   
d. ₹ 1,275   e. tpil njhpatpy;iy 

 

91. With reference to colonial period of Indian history, Match List I (Person) with List II  
(Event) 
List I     List II 

 A. Macdonald   1. Doctrine of Lapse 
 B. Linlithgow   2. Communal Award 
 C. Dalhousie    3. August Offer 
 D. Chelmsford   4. Dyarchy 

A B C D 
a.  3 2 1 4 
b.  3 2 4 1 
c.  2 3 1 4 
d.  2 3 4 1  e. Answer not known 
nghUj;Jf. 
thpir I    thpir II 
A. Nkf;Nlhdhy;L  1. thhprpog;G nfhs;if 
B. ypd;ypj;Nfh   2. rhjpthhp xJf;fPL 
C. ly;n`srp   3. Mf];l; nfhil 
D. nrk;];Nghh;l;  4. ,ul;ilahl;rp 

A B C D 
a.  3 2 1 4 
b.  3 2 4 1 
c.  2 3 1 4 
d.  2 3 4 1  e. tpil njhpatpy;iy 

 

92. During the Colonial period in India, what was the purpose of the Whitley Commission? 
a. To review the fitness of India for further political reforms 
b. To report on existing conditions of labour and to make recommendations 
c. To draw up a plan for financial reforms for India 
d. To develop a comprehensive scheme for Civil Services in India. 
e. Answer not known 
fhydpfspd; Ml;rp fhyj;jpy; epakpf;fg;gl;l xal;yp FOtpd; Fwpf;Nfhs; vd;d? 
a. murpay; rPh;jpUj;jj;jpw;F ,e;jpah nghUe;Jfpwjh vd;gij Muha;jy; 
b. mg;Nghija njhopyhsh;fspd; epiyiaAk; mjw;fhd ghpe;JiufSk; Muha 
c. ,e;jpahtpw;fhd epjp rPh;jpUj;jj;ij jpl;lkply; 
d. ,e;jpahtpy; Fbikg; gzpf;fhd gue;j jpl;lj;ij Nkk;gLj;Jtjw;fhf 
e. tpil njhpatpy;iy 
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93. With reference to colonial rule in India what was sought by the Ilbert Bill in 1883? 
a. To Bring Indians and Europeans on par as far as the criminal Jurisdiction of courts 

was concerned  
b. To impose severe restrictions on the freedom of the native press as it was perceived 

to be hostile to colonial rulers 
c. To encourage the native Indians to appear for civil service examinations by 

conducting them in India  
d. To allow native Indians to possess arms by amending the arms Act 
e. Answer not known 
,e;jpahtpy; fhydp Ml;rpapd; NghJ ,aw;wg;gl;l ,y;gh;l; kNrhjhtpy; vJ 
mj;jpahtrpakhdjhf fUjg;gl;lJ. 
a. ePjpkd;wj;jpy; Fw;w tprhuizapd;NghJ INuhg;gpah;fisAk;> ,e;jpah;fisAk; xNu 

fz;Nzhl;lj;jpy; mZFtJ. 
b. fhydp Ml;rpapd;NghJ RNjr gj;jphpf;iffspd; Rje;jpuj;jpw;F fLikahd 

fl;Lg;ghLfs; tpjpf;fg;gl;ld. 
c. ,e;jpah;fs; Fbikg;gzp Njh;tpy; fye;J nfhs;tjw;F Cf;fk; nfhLf;fg;gl;lJ. 
d. MAj rl;lj;ij epWj;jp ,e;jpah;fs; MAjk; itg;gjw;F mDkjp toq;Ftjw;F top 

Vw;gl;lJ. 
e. tpil njhpatpy;iy 

 
94. When Congress leaders condemned the Montague-Chelmsford report, many moderates 

left the party to form the 
a. Swaraj party     b. Indian freedom party 
c. Independence federation of India  d. Indian liberal federation 
e. Answer not known 
fhq;fpu]; jiyth;fs; khz;NlF-nrk;];Nghh;L mwpf;ifia Fiw $wpaNghJ kpjthjpfs; 
fl;rpapypUe;J tpyfp ve;j Gjpa fl;rpia Muk;gpj;jdh; 
a. Rahl;rp fl;rp      b. ,e;jpa Rje;jpu fl;rp 
c. ,e;jpa tpLjiy $l;likg;G   d. ,e;jpa Rje;jpu $l;likg;G  
e. tpil njhpatpy;iy 
   

95. Consider the following princely states of the British rule in India 
1. Jhansi   2. Sambalpur   3. Satara 
The correct chronological order in which they were annexed by the British is 
a. 1, 2, 3   b. 1, 3, 2   c. 3, 2, 1   
d. 3, 1, 2   e. Answer not known 
,e;jpahtpy; gphpl;b~; Ml;rpapypUe;j fPo;f;fz;l RNjr muRfis Muha;f. 
1. [hd;rp   2. rk;gy;G+h;   3. rjhuh 
Mq;fpNyah;fshy; Nkw;fz;l RNjr muRfs; ,izf;fg;gl;lJ. mtw;wpd; rhpahd fhy 
thpiria $Wf. 
a. 1, 2, 3   b. 1, 3, 2   c. 3, 2, 1   
d. 3, 1, 2   e. tpil njhpatpy;iy   

 
96. Which of the following pairs are correctly matched 

List I    List II 
1. AD 1767-69  -  First Anglo-Maratha War 
2. AD 1790-92  -  Third Mysore War 
3. AD 1824-26  - First    Anglo-Burmese War 
4. AD 1845-46  - Second Sikh War 
a. 2 and 4   b. 3 and 4    c. 1 and 2   
d. 2 and 3   e. Answer not known 
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fPo;f;fz;l ,izapy; vJ my;yJ vitfs; rhpahd ,izahFk;. 
thpir I    thpir II 
1. fp.gp. 1767-69  - Kjy; Mq;fpNya kuhj;jpa Nghh; 
2. fp.gp. 1790-92  - 3k; ik#h; Nghh; 
3. fp.gp. 1824-26  - Kjyhk; Mq;fpNya gh;kpaNghh; 
4. fp.gp 1845-46  - 2k; rPf;fpa Nghh; 
a. 2 kw;Wk; 4   b. 3 kw;Wk; 4    c. 1 kw;Wk; 2    
d. 2 kw;Wk; 3  e. tpil njhpatpy;iy  

 
97. Which one of the following pairs is not correctly matched? 

a. Pitt’s India Act   : Warren Hastings 
b. Doctrine of Lapse   : Dalhousie 
c. Vernacular Press Act  : Curzon 
d. Ilbert Bill    : Ripon 
e. Answer not known 
fPo;f;fz;ltw;Ws; ve;j ,iz rhpahd ,iz fpilahJ. 
a. gpl; ,e;jpa rl;lk;   - thud; N`];bq;]; 
b. thhpRhpik ,og;G nfhs;if - ly;n`srp 
c. jha;nkhop gj;jphpf;if rl;lk; - fh;]d; 
d. ,y;gh;l; kNrhjh   - hpg;gd; 
e. tpil njhpatpy;iy 

 
98. Consider the following viceroys of India during the British rule 

1. Lord Curzon    2. Lord Chelmsford 
3. Lord Hardinge    4. Lord Irwin 
Which one of the following is the correct chronological order of their tenure? 
a. 1, 3, 2, 4   b. 2, 4, 1, 3   c. 1, 4, 2, 3   
d. 2, 3, 1, 4   e. Answer not known 
gphpl;b]; Ml;rpapypUe;j fPo;f;fz;l it];uha;fis ftdp. 
1. fh;]d; gpuG     2. nrk;];Nghh;L gpuG 
3. `hh;bq;]; gpuG    4. ,h;tpd; gpuG 
fPo;f;fz;l thpirapy; vJ mth;fspd; rhpahd fhy thpirahFk;. 
a. 1, 3, 2, 4   b. 2, 4, 1, 3   c. 1, 4, 2, 3   
d. 2, 3, 1, 4   e. tpil njhpatpy;iy 
 

99. What was Komagata Maru? 
a. Apolitical party based in Taiwan 
b. Peasant communist leader of China 
c. A navalship on voyage to Canada 
d. A Chinese village where Mao Tse Tung began his long march. 
e. Answer not known 
fhkfhj;j khU vd;why; vd;d? 
a. ijthdpy; cs;s Xh; murpay; fl;rp 
b. rPdhtpy; cs;s coth; nghJTlik fl;rpapd; jiyth; 
c. fdlhtpw;fhd fg;gw;gazk; 
d. rPdhtpy; kh rp jq; jdJ ePz;l eilgazj;ij Jtq;fpa ,lk; 
e. tpil njhpatpy;iy 

 

100. Where were the Ghadar revolutionaries, who became active during the outbreak of the 
World War I based? 
a. Central America  b. North America   c. West America   
d. South America  e. Answer not known 
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Kjy; cyfg;Nghh; Muk;gpj;j Neuj;jpy; ve;j ehl;by; fhjh; ,af;fk; nray;gl;lJ? 
a. kj;jpa mnkhpf;fh  b. tl mnkhpf;fh   c. Nkw;F mnkhpf;fh   

d. njd; mnkhpf;fh  e. tpil njhpatpy;iy 
 
101. Who among the following drafted the resolution on Fundamental Rights for the Karachi 

Session of Congress in 1931? 
a. Dr BR Ambedkar         b. Pandit Jawaharlal Nehru c. Dr Rajendra Prasad  
d. Sardar Vallabhbhai Patel       e. Answer not known 
1931k; Mz;by; fuhr;rpapy; $ba fhq;fpu]; fl;rpapd; $l;lj;jpy; mbg;gil chpik gw;wpa 
jPh;khdk; vOjg;gl;lJ? 
a. Dr. B.R. mk;Ngj;fhh;    b. gz;bl; [t`h;yhy; NeU c. Dr. uhN[e;jpu gpurhj;  
d. rh;jhh; ty;ygha; gNly;  e. tpil njhpatpy;iy 

 
102. Which of the following is the correct chronological order of the battles fought in India in 

the 18th century? 
a. Battle of Wandiwash, Battle of Buxar, Battle of Ambur, Battle of Plassey 
b. Battle of Ambur, Battle of Plassey, Battle of Wandiwash, Battle of Buxar 
c. Battle of Wandiwash, Battle of Plassey, Battle of Ambur, Battle of Buxar 
d. Battle of Ambur, Battle of Buxar, Battle of Wandiwash, Battle of Plassey 
e. Answer not known 
,e;jpahtpy; 18k; E}w;whz;by; eilngw;w Nghh;fspy; fPo;f;fz;l Nghh;fis fhy 
thpirapd;gb $Wf. 
a. te;jthrp Nghh;> gf;rhh; Nghh;> Mk;G+h; Nghh;> gpshrp Nghh; 
b. Mk;G+h; Nghh;> gpshrp Nghh;> te;jthrp Nghh;> gf;rhh; Nghh; 
c. te;jthrp Nghh;> gpshrp Nghh;> Mk;G+h; Nghh;> gf;rhh; Nghh; 
d. Mk;G+h; Nghh;> gf;rhh; Nghh;> te;jthrp Nghh;> gpshrp Nghh; 
e. tpil njhpatpy;iy 

 
103. Who was the Governor-General of India during the Sepoy Mutiny, 1857? 

a. Lord Canning  b. Lord Dalhousie   c. Lord Hardings   
d. Lord Lytton  e. Answer not known 
1857 rpg;gha; fyfj;jpd; NghJ ,e;jpahtpd; fth;dh; n[duy; ahh;? 
a. fhdpq; gpuG   b. ly;n`rp gpuG   c. `hh;bq; gpuG   
d. ypl;ld; gpuG  e. tpil njhpatpy;iy 

 
104. Which one of the following places was associated with Acharya Vinoba Bhave’s 

Bhoodan Movement at the beginning of the movement? 
a. Udaygiri   b. Rapur    c. Pochampalli   
d. Venkatagiri  e. Answer not known 
fPo;f;fz;l ,lq;fspy; ve;j ,lk; tpNdhghthy; Muk;gpf;fg;gl;l G+kpjhd ,af;fj;NjhL 
njhlh;Gila ,lkhFk;. 
a. cjafphp   b. uhg;G+h;    c. Nghr;rk;gs;sp   
d. ntq;flfphp  e. tpil njhpatpy;iy 

 
105. The first Factory Act for restricting the working hours of women and children and 

authorising local government to make necessary rules was adopted during whose time? 
a. Lord Lytton  b. Lord Bentinck   c. Lord Ripon   
d. Lord Canning  e. Answer not known 
ahUila fhyj;jpy; njhopw;rhiy rl;lk; ,aw;wg;gl;L ngz;fs; kw;Wk; Foe;ijfspd; 
Ntiy Neuk; Fiwg;gjw;F tpjpKiwfs; tFf;fg;gl;ld. 
a. ypl;ld; gpuG  b. ngz;bq; gpuG   c. hpg;gd; gpuG    
d. fhdpq; gpuG  e. tpil njhpatpy;iy  
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106. Who among the following were official Congress negotiators with Cripps Mission? 
a. Mahatma Gandhi and Sardar Patel 
b. Acarya JB Kripalani and C Rajagopalachari 
c. Pandit Nehru and Maulana Azad 
d. Dr Rajendra Prasad and Rafi Ahmed Kidwai 
e. Answer not known 
fpupg;JJf;FOtplk; Ngr;R thh;j;ij elj;j mjpfhuG+h;tkhf epakpf;fg;gl;l gpujpepjpfs; 
ahh;? 
a. kfhj;kh fhe;jp kw;Wk; rh;jhh; ty;ygha; gNly; 
b. Mr;rhh;ah J.B. fpUghsdp kw;Wk; uh[Nfhghyhr;rhhp 
c. gz;bl; NeU kw;Wk; kTyhd M]hj; 
d. Dr. uhN[e;jpu gpurhj; kw;Wk; u/gp mfkJ fpj;tha; 
e. tpil njhpatpy;iy 

 
107. With reference to the period of Indian freedom struggle, which of the following 

was/were recommended by the ‘Nehru Report’? 
1. Complete Independence for India. 
2. Joint electorate for reservation of seats for minorities. 
3. Provision of Fundamental Rights for the people of India in the Constitution. 
Which of the statement(s) given above is/ are correct? 
a. Only 1   b. 2 and 3    c. 1 and 3   
d. All of these  e. Answer not known 
,e;jpa tpLjiy Nghhpd; fhyj;jpy; fPo;f;fz;ltw;Ws; vJ my;yJ vitfs; NeU 
mwpf;ifapy; ghpe;Jiuf;fg;gl;lJ? 
1. ,e;jpahtpw;F KO Rje;jpuk; toq;fg;gLjy; 
2. tf;fhsh; gl;baypy; rpWghd;ikapdUf;F jdpj; njhFjpfs; toq;Fjy;. 
3. ,e;jpa murpayikg;gpy; kf;fSf;F mbg;gil chpik gw;wpa ~uj;J ,lk; ngw 
Ntz;Lk;. 
fPo;f;fz;ltw;Ws; vJ my;yJ vitfs; rhpahdJ? 
a. 1 kl;Lk;   b. 2 kw;Wk; 3    c. 1 kw;Wk; 3   
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 

 

108. What was the reason for Mahatma Gandhi to organise a Sathyagraha on behalf of the 
peasents of Kheda? 
1. The administration did not suspend the land revenue collection in spite of a drought. 
2. The administration proposed to introduce permanent settlement in Gujarat. 
Which of the statement(s) given above is/ are correct? 
a. Only 1   b. Only 2    c. Both 1 and 2   
d. Neither 1 nor 2  e. Answer not known 
Nfjh tptrhapfSf;fhf kfhj;kh fhe;jp rj;ahfpuf Nghuhl;lj;ij elj;j fhuzk; 
1. twl;rp fhyj;jpy; epythp t#iy epWj;j eph;thfk; kWj;jJ. 
2. eph;thfk; epue;jpu epythp jpl;lj;ij F[uhj;jpy; nray;gLj;j jpl;lkpl;lJ. 
fPo;f;fz;l fUj;Jf;fspy; vJ my;yJ vitfs; rhpahdJ. 
a. 1 kl;Lk;   b. 2 kl;Lk;    c. ,uz;Lk;    
d. ,uz;Lk; ,y;iy  e. tpil njhpatpy;iy 

 

109. Which of the following is/are the principal feature(s) of the Government of India Act, 
1919? 
1. Introduction of dyarchy in the executive government of the provinces. 
2. Introduction of separate communal electorates for Muslims. 
3. Devolution of legislative authority by the centre to the provinces. 
Select the correct answer using the codes given below 
a. Only 1   b. 2 and 3    c. 1 and 3   
d. All of these  e. Answer not known 
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1919k; Mz;L rl;lj;jpy; vJ my;yJ vitfs; Kf;fpa mk;rkhf ,Ue;jJ. 
1. khepy murhq;f eph;thfj;jpy; ,ul;ilahl;rpia mwpKfg;gLj;Jjy; 
2. K];yPk;fSf;F jdpj; njhFjpia cUthf;Fjy;. 
3. khepyq;fSf;F kf;fs; gpujpepjpj;Jtk; kj;jpa murhy; toq;fg;gl;lJ. 
fPo;f;fz;l FwpaPl;bid gad;gLj;jp rhpahd gjpiy jUf. 
a. 1 kl;Lk;   b. 2 kw;Wk; 3   c. 1 kw;Wk; 3   
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 

 
110. Mahatma Gandhi undertook Fast Unto Death in 1932, mainly because 

a. Round Table Conference failed to satisfy Indian political aspirations 
b. Congress and Muslim league had differences of opinion 
c. Ramsay MacDonald announced the communal award 
d. None of the Statements  
e. Answer not known 
kfhj;kh fhe;jp 1932k; Mz;L rhFk;tiu cz;zhNehd;G Nghuhl;lk; Nkw;nfhs;s fhuzk; 
vd;d? 
a. tl;lNki[ khehL ,e;jpa kf;fspd; murpay; tpUg;gj;ij epiwNtw;w jtwpaJ. 
b. fhq;fpu]pw;Fk; K];ypk; yPf;fpw;Fk; ,ilNa Vw;gl;l fUj;J NtWghL. 
c. uhk;Nr khf;Nlhdhy;bd; tFg;G thhp gpujpepjpj;Jtk; gw;wpa mwptpg;G 
d. Nkw;fz;l vJTkpy;iy 
e. tpil njhpatpy;iy 
 

111. Annie Beasant was 
1. responsible for starting the Home Rule Movement. 
2. the founder of the Theosophical society. 
3. the President of Indian National Congress. 
Select the correct answer using the codes given below 
a. Only 1   b. 2 and 3   c. 1 and 3   
d. All of these  e. Answer not known 
md;dpngrd;l; vd;gth; 
1. N`hj; &y; ,af;fk; Njhd;w fhuzkdth;. 
2. jpNahrgpf;fy; (jj;Jtk;) rq;fj;jpd; epWtdh;. 
3. ,e;jpa Njrpa fhq;fpurpd; jiytu;  
fPo;f;fz;l FwpaPl;bid gad;gLj;jp rhpahd gjpiy jUf. 
a. 1 kl;Lk;   b. 2 kw;Wk; 3   c. 1 kw;Wk; 3     
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 

 
112. What was/were the objectives /objects of Queen Victoria’s Proclamation (1858)? 

1. To disclaim any intention to annex Indian States. 
2. To place the Indian administration under the British Crown. 
3. To Regulate East India Company’s trade with India. 
Select the correct answer using the codes given below 
a. 1 and 2    b. Only 2   c. 1 and 3   
d. All of these   e. Answer not known 
1858k; Mz;by; ntspaplg;gl;l Nguurpahhpd; mwpf;ifapd; Kf;fpa Fwpf;Nfhs; my;yJ 
Fwpf;Nfhs;fs; vd;d? 
1. ,e;jpa khepyq;fis ,izf;Fk; Nfhhpf;if iftplg;gLk;. 
2. ,e;jpa eph;thfk; murpapd; iff;F khw;wg;gLjy;. 
3. ,e;jpahtplk; Nkw;nfhs;sg;gLk; fpof;fpe;jpa fk;ngdpapd; thzpgk; xOq;FgLj;jg;gLk;. 
fPo;f;fz;l FwpaPl;bid gad;gLj;jp rhpahd gjpiy jUf. 
a. 1 kw;Wk; 2    b. 2 kl;Lk;   c. 1 kw;Wk; 3    
d. Nkw;fz;l midj;Jk;  e. tpil njhpatpy;iy 
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113. Who among the following organised a march on the Tanjore coast to break the salt law 
in April, 1930? 
a. VO Chidambaram Pillai  b. C Rajagopalachari  c. K Kamaraj   
d. Annie Besant   e. Answer not known 
Vg;uy; 1930k; Mz;by; cg;G rl;lj;ij vjph;j;J ahh; jQ;rhT+h; flw;fiuapy; ahj;jpiuia 
Nkw;nfhz;lhh;. 
a. t.c. rpjk;guk; gps;is  b. C. uh[Nfhghyrhhp   c. K. fhkuh[;   
d. md;dpngrd;l;   e. tpil njhpatpy;iy 

 
114. Consider the following statements: 

1. The first woman President of the Indian National Congress was Sarojini Naidu. 
2. The first Muslim President of the Indian National Congress was Badruddin Tyabji. 
Which of the statement(s) given above is/ are correct? 
a. Only 1    b. Only 2   c. Both 1 and 2   
d. Neither 1 nor 2   e. Answer not known 
fPo;f;fz;l fUj;ij ftdp. 
1. fhq;fpu]; fl;rpapd; Kjy; ngz; jiyth; rNuh[pdp ehAL Mthh;. 
2. ,e;jpa Njrpa fhq;fpu]pd; Kjy; K];;yPk; jiyth; gj;UjPd; jpahg;[p  
Nkw;fz;l fUj;Jf;fspd; vJ my;yJ vitfs; rhpahdJ. 
a. 1 kl;Lk;    b. 2 kl;Lk;   c. 1 kw;Wk; 2    
d. ,uz;Lk; ,y;iy   e. tpil njhpatpy;iy 

 
115. The object of the Butler Committee of 1927 was to  

a. Define the jurisdiction of the Central and Provincial governments. 
b. Define the powers of the Secretary of State for India. 
c. Impose censorship on national press. 
d. Improve the relationship between the Government of India and the Indian States. 
e. Answer not known 
1927k; Mz;by; mikf;fg;gl;lg; gl;yh; FOtpd; Fwpf;Nfhs;. 

a. kj;jpa kw;Wk; khepy muRfspd; vy;iy tiuaiwia Fwpg;gpLjy; 
b. ,e;jpa nrayhsh;fspd; mjpfhuj;ij Fwpg;gpLjy; 
c. Njrpa gj;jphpf;ifSf;F jzpf;if Kiwia mwpKfg;gLj;Jjy; 
d. ,e;jpa murhq;fj;jpw;Fk;> khepy muRfSf;FkpilNa ey;Ywit Nkk;gLj;Jjy; 
e. tpil njhpatpy;iy 

 
116. If   difference   between   compound   interest   and   simple   interest   for Rs. 32,000 for 2 

years is Rs. 20 then the rate of interest is 

a. 
1

2
3

%  b. 
1

2
2

% c. 
1

6 %
4

 d. 
1

4 %
2

 e. Answer not known 

& 32>000 mrYf;F 2 Mz;LfSf;F fpilf;Fk; $l;Ltl;bf;Fk;> jdptl;bf;Fk; 
,ilNaAs;s tpj;jpahrk; & 20 vdpy; tl;b tPjk; vt;tsT?  

a. 
1

2
3

%  b. 
1

2
2

% c. 
1

6 %
4

 d. 
1

4 %
2

 e. tpil njhpatpy;iy
 

 
117. A sum of money at compound interest doubles itself in 15 years. It will become eight 

times of itself in  
a. 60 years  b. 54 years   c. 48 years   
d. 45 years  e. Answer not known 
xU njhifahdJ $l;Ltl;b tpfpjj;jpy; 15 Mz;Lfspy; 2 klq;F MfpwJ vdpy; 
vj;jid Mz;Lfspy; mj;njhif 8 klq;fhFk;? 
a. 60 Mz;Lfs; b. 54 Mz;Lfs;  c. 48 Mz;Lfs;   
d. 45 Mz;Lfs; e. tpil njhpatpy;iy 
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118. Find the difference in the compound interest on ₹62500 for 1 ½ years at 8% p.a 
compounded annually and when compounded half-yearly. 
a. Rs. 104  b. Rs. 140  c. Rs. 250  d. 340  e. Answer not known 
8% Mz;L tl;b tPjj;jpy;> tl;bahdJ Mz;Lf;nfhU KiwAk;> miuahz;Lf;nfhU 
KiwAk; fzf;fplg;gl;lhy;> &.62500 ,f;F 1½  Mz;LfSf;F fpilf;Fk; $l;L 
tl;bfspd; tpj;jpahrj;ijf; fhz;f. 
a. Rs. 104  b. Rs. 140  c. Rs. 250  d. Rs. 340 e. tpil njhpatpy;iy 

 
119. Compound interest on a certain sum for two successive years is `150 and ` 153 

respectively. Find rate of interest.  
a. 2%  b. 3%  c. 20%  d. 5%  e. Answer not known 
$l;L tl;b Kiwapy; xU Fwpg;gpl;l njhiff;fhd mLj;jLj;j ,uz;L Mz;LfSf;fhd 
fpilf;fg;ngWk; $l;L tl;bahdJ KiwNa `150, ` 153 vdpy; tl;b rjtPjk; fhz;f.  
a. 2%  b. 3%  c. 20%  d. 5%  e. tpil njhpatpy;iy 

 
120. At what rate per cent compound interest does a sum of money become four fold 

in 2 years? 
a. 25%  b. 50%  c. 100% d. 10%  e. Answer not known  
$l;L tl;bf;F tplg;gLk; xU Fwpg;gpl;l njhif 2 Mz;Lfspy; mijg; Nghy ehd;F 
klq;fhfpwJ vdpy; Mz;L tl;b tPjk; vt;tsT? 
a. 25%  b. 50%  c. 100% d. 10%  e. tpil njhpatpy;iy 

 
121. Which one of the following pairs are not correctly matched? 

a. Jamnalal Bajaj  : Satyagraha Ashram at Wardha 
b. Dadabhai Naoroji  : Bombay Association 
c. Lala Lajpat Rai  : National School at Lahore 
d. Bal GangadharTilak : Sathya Shodhok Sabha 
e. Answer not known 
fPo;f;fz;l ,izapy; nghUj;jkw;w ,izia Njh;T nra;f. 
a. [hk;dhyhy; g[h[; : thh;jhtpy; cs;s rj;ahfpufk; 
b. jhjhgha; eTNuh[p : ghk;Ng rq;fk;  
c. yhy y[;gj;uha;  : yh$hpy; cs;s Njrpa gs;spf;$lk; 
d. ghy fq;fhju jpyfh; : rj;aNrhjf;rgh 
e. tpil njhpatpy;iy 

122. Consider the following  
Assertion (A): The British Sovereignty continued to exist in free India. 
Reason (R): The British Sovereign appointed the last Governor of Free India. 
a. Both ‘A’ and ‘R’ are individually true and ‘R’ is the correct explanation of ‘A’. 
b. Both ‘A’ and ‘R’ are individually true but ‘R’ is not the correct explanation of ‘A’. 
c. ‘A’ is true, but ‘R’ is false. 
d. ‘A’ is false, but ‘R’ is true. 
e. Answer not known 
gpd;tUtdtw;iw Ma;f. 
$w;W (A): Rje;jpu ,e;jpahtpYk; gphpl;b~; ,iwahz;ik njhlh;e;J ,Ue;jJ. 
fhuzk; (R): gphpl;b~; ,iwahz;ik ,e;jpahtpw;fhd fth;dh; n[duiy epakpj;jJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y 
c. (A) rup> Mdhy; (R) jtW 
d. (A) jtW> Mdhy; (R) rup 
e. tpil njhpatpy;iy 
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123. Match List I with List II  
List I     List II 

 A. Surendranath Bannerjee  1. Hind Swaraj 
 B. MK Gandhi   2. The Indian Struggle 
 C. Subash Chandra Bose  3. Autobiographical Writings 
 D. Lajpat Rai    4. A Nation in Making 

A B C D 
a.  4 1 3 2 
b.  1 4 3 2 
c.  4 1 2 3 
d.  3 4 1 2 
e. Answer not known 
njhFjp I cld; njhFjp II I ,iz. 
njhFjp I    njhFjp II 
A. RNue;jpuehj; ghdh;[p  1. ,e;J Rtuh[;ak; 
B. M.K. fhe;jp   2. ,e;jpa Nghuhl;lk; 
C. Rgh~; re;jpuNgh];  3. Rarhpij vOj;Jfs; 
D. y[;gj; uha;   4. Njrk; cUthfjy; 

A B C D 
a.  4 1 3 2 
b.  1 4 3 2 
c.  4 1 2 3 
d.  3 4 1 2 
e. tpil njhpatpy;iy 

 
124. Which one of the following is not correct about the Cabinet Mission plan? 

a. Provincial grouping   b. Interim Cabinet of Indians 

c. Acceptance of Pakistan   d. Constitution framing right 

e. Answer not known 
mikr;ruit J}Jf;FO jpl;lj;jpy; vJ jtwhdit? 
a. khepy FO   
b. ,e;jpah;fSf;fhd ,ilf;fhy kj;jpa mikr;ruit 
c. ghfp];jhd; cUthFtij Vw;Wnfhs;Sjy; 
d. murpayikg;ig cUthf;Fk; chpik 

e. tpil njhpatpy;iy 

125. Match List I with List II 
A. Butler Committee Report  1. Jallianwala Bagh Massacre 
B. Hartog Committee Report  2. Relationship between the Indian states and  

paramount power 
C. Hunter Inquiry Committee Report  3. Working of Dyarchy as laid down in the  

Montague Chelmsford Reforms 
D. Muddiman Committee Report  4.The growth of education in British India &  

potentialities of its further progress 
A B C D 

a.  3 2 1 4 
b.  1 4 2 3 
c.  2 1 3 4 
d.  2 4 1 3 
e. Answer not known 
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nghUj;Jf. 
A. gl;yh; FO mwpf;if   1. [hypad; thyhghf; gLnfhiy 

B. `h;Njhf;FO mwpf;if   2. ,e;jpa khepyq;fSf;Fk; kj;jpa  
muRf;FkpilNa cs;s cwT 

C. `z;lh; tprhuizf; FO mwpf;if 3. khz;NlF nrk;];Nghh;L mwpf;ifapy;  
Fwpg;gpl;lgb ,ul;il Ml;rpia nray;gLj;Jjy; 

D. Kbkz;FO mwpf;if   4. gphpl;b~; ,e;jpahtpy; fy;tp tsh;r;rp kw;Wk;  
kw;w tsh;r;rpf;fhd Mjhuk; 

A B C D 
a.  3 2 1 4 
b.  1 4 2 3 
c.  2 1 3 4 
d.  2 4 1 3 
e. tpil njhpatpy;iy 

 
126. Match List I with List II: 

List I      List II 
 A. Surat Split     1. 1929 
 B. Communal Award   2. 1928 
 C. All Party Convention   3. 1932 
 D. Poorna Swaraj Resolution  4. 1907 
       5. 1905 

A B C D 
a.  4 3 1 5 
b.  4 3 2 1 
c.  2 5 4 1 
d.  1 4 2 3 
e. Answer not known 
nghUj;Jf. 
A. #uj; gpsT    1. 1929 
B. njhFjpthhp gpujpepjpj;Jtk;  2. 1928 
C. midj;J fl;rp khehL   3. 1932 
D. G+h;z Rauh[;a jPh;khdk;  4. 1907 
      5. 1905 

A B C D 
a.  4 3 1 5 
b.  4 3 2 1 
c.  2 5 4 1 
d.  1 4 2 3 
e. tpil njhpatpy;iy 
 

127. Consider the following statements. 
Assertion (A): Partition of Bengal in 1905 brought to an end the moderates role in the 
Indian freedom movement. 
Reason (R):  The Surat session of Indian National Congress separated the extremist 
from the moderates. 

a. Both ‘A’ and ‘R’ are individually true and ‘R’ is the correct explanation of ‘A’. 
b. Both ‘A’ and ‘R’ are individually true but ‘R’ is not the correct explanation of ‘A’. 
c. ‘A’ is true, but ‘R’ is false. 
d. ‘A’ is false, but ‘R’ is true. 
e. Answer not known 
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gpd;tUtdtw;iw Ma;f. 
$w;W (A): 1905k; Mz;by; eilngw;w tq;f gphptpidapdhy; ,e;jpa tpLjiy ,af;fj;jpy;  

kpjthjpfspd; gq;F KbTf;F te;jJ. 
fhuzk; (R):#uj;jpy; $ba ,e;jpa Njrpa fhq;fpu]; kpjthjpfis jPtpu thjpfsplkpUe;J  

gphpj;jJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y 
c. (A) rup> Mdhy; (R) jtW 
d. (A) jtW> Mdhy; (R) rup 
e. tpil njhpatpy;iy 

 
128. ______________ is called the “Father of Printing Press”.  

a. Fr. Roberto de Nobile   b. Albuquerque   c. Fr. Henriques  
d. Francisco d’ Almeida    e. Answer not known 

 ________ "jkpo; mr;Rg;gjpg;gpd; je;ij" vd;W miof;fg;gLfpwhh;.  
 a. mUl; je;ij ,uhgh;Nlh b nehgpyp b. my;Nghd;Nrh b my;Gfh;f;  
 c. mUl;je;ij n`d;hpf;];   d. gpuhd;rp];Nfh b my;nka;lh  
 e. tpil njhpatpy;iy 

 
129. Match the following 

A. Arthur Cotton   1.Sanskrit College  
B. William Sleeman   2.Kollidam 
C. William Bentinck   3.Thuggee Menace 
D.Cornwallis    4.Abolition of Sati Act    
 A B C D 
a. 2 3 4 1 
b. 3 2 4 1 
c. 1 2 3 4 
d. 4 3 2 1 
e. Answer not known 
nghUj;Jf:  
A. Mh;jh; fhl;ld;    1. rk];fpUj fy;Y}hp 
B. tpy;ypak; ];yPNkd;  2. nfhs;splk;  
C. tpy;ypak; ngz;bq;  3. jf;fh;fis mlf;Fjy;  
D. fhud;thyp];   4. rjp xopg;Gr; rl;lk; 
 A B C D 
a. 2 3 4 1 
b. 3 2 4 1 
c. 1 2 3 4 
d. 4 3 2 1 
e. tpil njhpatpy;iy 

 
130. “The Father of Indian Renaissance” was ____________.  

a. Swami Vivekananda   b. Dayananda Saraswathi  c. Raja Rammohan Roy   
d. Atmaram Pandurang   e. Answer not known 
",e;jpa kWkyh;r;rpapd; je;ij" ___________ Mthh;.  
a. Rthkp tpNtfhde;jh;   b. jahde;j ru];tjp  c. ,uh[h uhk;Nkhfd; uha;   
d. Mj;kuhk; ghz;Luq;   e. tpil njhpatpy;iy 
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131. Match the following  
 A. Bala Gangadhar Tilak  1. Voice of India  
 B. Dadabhai Naoroji  2. Madras Time  
 C. Macaulay    3. Kesari  
 D. William Digby   4. Minute on Indian Education  
  A B C D 
 a. 2 4 1 2 
 b. 3 1 4 2 
 c. 1 3 2 4 
 d. 4 2 3 1 

e. Answer not known 
 gpd;tUtdtw;iw nghUj;jp rhpahd tpiliaj; Njh;T nra;f. 
 A. ghyfq;fhju jpyfh; 1. ,e;jpahtpd; Fuy; jpyfh; 
 B. jhjhgha; nesNuh[p 2. nkl;uh]; ilk;]; 
 C. nkf;fhNy   3. Nfrhp 
 D. tpy;ypak; bf;ig  4. ,e;jpaf; fy;tp Fwpj;j Fwpg;Gfs; 
  A B C D 
 a. 2 4 1 2 
 b. 3 1 4 2 
 c. 1 3 2 4 
 d. 4 2 3 1 

e. tpil njhpatpy;iy 
 

132. Which is the correct chronological sequence of the following associations?  
 (i) East India Association  
 (ii) Madras Mahajana Sabha  
 (iii) Madras Native Association  
 (iv) The Servants of India Society  
 a. ii, i, iii, iv    b. ii, iii, i, iv    c. iii, i, ii, iv    

d. iii, iv, ii, i    e. Answer not known 
 gpd;tUk; mikg;Gfs; njhlq;fg;gl;l rhpahd fhy thpiriaj; Njh;T nra;f. 
 (i) E. fpof;fpe;jpaf; fofk;   (ii) nrd;id kfh[d rq;fk; 
 (iii) nrd;idthrpfs; rq;fk   (iv) ,e;jpar; rq;fk; 
 a. ii, i, iii, iv     b. ii, iii, i, iv    c. iii, i, ii, iv    

d. iii, iv, ii, i    e. tpil njhpatpy;iy 
 

133. Which of the following statements are correct on Orissa famine?  

1. In 1866 a million and a half people of Orissa died of starvation.  

2. During that time the British exported 200 million pounds of rice to Britain.  

3. The Orissa famine prompted Dadabai Naoroji to begin a life-long investigation of 
poverty in India.  

a. 1 & 2    b. 1 & 3    c. None of the above   
d. All of the above  e. Answer not known 

 xhprh gQ;rk; Fwpj;j gpd;tUk; $w;Wfspy; rhpahdit vit / vJ? 
1. 1866 Mk; Mz;by; xd;wiu kpy;ypad; kf;fs; xhprhtpy; gl;bdpahy; ,we;jdh;. 
2. gQ;r fhyj;jpy; 200 kpy;ypad; gTz;l; mhprpia gphpl;lDf;F Mq;fpy  muR Vw;Wkjp 

nra;jJ. 
3. xhprh gQ;rkhdJ jhjhgha; nesNuh[pia ,e;jpa tWik Fwpj;J tho;ehs; Ma;it 

Nkw;nfhs;s J}z;baJ. 
 a. 1, 2     b. 1, 3     c. ,tw;Ws; vJTkpy;iy   

d. ,it midj;Jk;  e. tpil njhpatpy;iy 
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134. Which one of the following is correctly paired?  
a. Bankim Chandra Chatterjee - Anandmath  
b. G. Subramaniam - Dawn Society  
c. Lord Minto - The University Act of 1904  
d. Epicentre of militant nationalism - Madras  
e. Answer not known 

 gpd;tUtdtw;Ws; ve;j xd;W rhpahfg; nghUe;jpAs;sJ? 
 a. gq;fpk; re;jpu rhl;lh;[p - Mde;j klk; 
 b. Rg;ukzpak;   - tpbnts;spf; fofk; 
 c. kpz;Nlh gpuG  - gy;fiyf;fofr; rl;lk;> 1904 
 d. jPtpu Njrpathj ikak; - nrd;id 

e. tpil njhpatpy;iy 
 
135. Anushilan Samity of Calcutta was founded by  

a. Pulin Behari Das  
b. Hemachandra Kanungo  
c. Jatindernath Banerjee and Barindar Kumar Ghose  
d. Khudiram Bose and Prafulla Chaki  
e. Answer not known 

 fy;fj;jhtpy; mDrpyd; rkpjpia epWtpath;  
 a. Gypd; gp`hhp jh]; 
 b. N`kr;re;jpu fhDq;Nfh 
 c. [jpe;juehj; ghdh;[p kw;Wk; Ghpe;jh; Fkhh; Nfh~; 
 d. Fjpuk; Ngh~; kw;Wk; gpu/Gy;yh rhf;fp 

e. tpil njhpatpy;iy 
 

136. Which of the following about Annie Besant are correct?  
1. Annie Besant was elected the international president of the Theosophical Society, 

after Col. H.S. Olcott.  
2. She started a weekly The Commonweal in 1914.  
3. She published a book How India Wrought for Freedom in 1915.  

a. 1 and 2    b. 2 and 3     c. 1 and 3    
d. 1, 2 and 3   e. Answer not known 

 gpd;tUtdtw;Ws; md;dpngrz;l; gw;wpa rhpahd $w;W vJ? 
1. fh;dy; vr;.v];. My;fhl;bw;Fg; gpwF gpuk;kQhd rigapd; cyfshtpa jiytuhf 

md;dpngrd;l; Njh;e;njLf;fg;gl;lhh;. 
2. 1914 ,y; mth; fhkd;tPy; vd;w thuhe;jphpia njhlq;fpdhh;. 
3. 1915 Mk; Mz;L “How India Wrought for Freedom” vd;w jiyg;gpyhd Gj;jfj;ijg; 

gjpg;gpj;jhh;. 
 a. 1 kw;Wk; 2    b. 2 kw;Wk; 3     c. 1 kw;Wk; 3    

d. 1, 2 kw;Wk; 3  e. tpil njhpatpy;iy 
 
137. Who was the president of the first All-India Trade Union Congress?  

a. B.P. Wadia     b. Jawaharlal Nehru   c. Lala Lajpat Rai   
d. C.R. Das     e. Answer not known 

 mfpy ,e;jpa njhopw;rq;f fhq;fpu]pd; Kjy; jiyth; ahh;? 
 a. gp.gp. thbah    b. [t`h;yhy; NeU   c. yhyh y[gjpuha;  
 d. rp.Mh;.jh];    e. tpil njhpatpy;iy 

 
138. What was the name of the party formed by Motilal Nehru and C.R. Das in 1923?  

a. Swaraj Party   b. Ghadar Party   c. Swantara Party    
d. Communist Party  e. Answer not known 
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1923 ,y; Nkhjpyhy; NeU kw;Wk; rp.Mh;.jh]; - My; Njhw;Wtpf;fg;gl;l fl;rpapd; ngah; 
vd;d? 
a. Rauh[;a fl;rp  b. fhjh; fl;rp   c. Rje;jpuh fl;rp   

d. fk;a+dp];l; fl;rp  e. tpil njhpatpy;iy 
 

139. Match the following 
A. The Namasudra Movement  1. North Western India  
B. The Adidharma Movement  2. South India  
C. The Satyashodhak Movement  3. Eastern India 
D. The Dravidian Movement  4. Western India 
 A B C D  
a.  3  1 4 2    
b.  2 1 4 3  
c.  1 2 3 4     
d.  3  4 1 2  
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;jp rhpahd tpiliaj; Njh;T nra;f. 
A. ehk#j;uh ,af;fk;  1. tlNkw;F ,e;jpah 
B. Mjpjh;k ,af;fk;   2. njd;dpe;jpah 
C. rj;aNrhjf; ,af;fk;  3. fpof;fpe;jpah 
D. jpuhtpl ,af;fk;   4. Nkw;F ,e;jpah 
 A B C D  
a.  3  1 4 2    
b.  2 1 4 3  
c.  1 2 3 4     
d.  3  4 1 2  
e. tpil njhpatpy;iy  

 
140. Who died in jail after 64 days of hunger strike?  

a. Pulin Das     b. Sachin Sanyal   c. Jatindra Nath Das   
d. Pritilal Waddadar   e. Answer not known 
fPo;f;fhz;gth;fspy; 64 ehl;fs; cz;zhtpujj;jpw;Fg; gpwF rpiwapy; caphpoe;jth; ahh;? 

 a. Gypd; jh];    b. rr;rpd; rd;ahy;  c. [jPe;jpuehj; jh];   
d. gphpj;jpyhy; tNjjhh;  e. tpil njhpatpy;iy 

 
141. What is the chronological order of the foundation of the following socio- religious 

organisations  
1. All India Muslim League   2. Arya Samaj  
3. All India Hindu Maha Sabha   4. The Punjab Hindu Sabha  
a. 1, 2, 3, 4   b. 2, 1, 4, 3    c. 2, 4, 3, 1    
d. 4, 3, 2,1  e. Answer not known 
gpd;tUk; r%f> rkar; rPh;jpUj;j epWtdq;fis mit Njhw;Wtpf;fg;gl;ljd; fhy 
mbg;gilapy; thpirg;gLj;Jf. 

 1. midj;Jk; ,e;jpa K];yPk; yPf; 2. Mhpa rkh[k; 
 3. midj;jpe;jpa ,e;J kfh rig  4. gQ;rhg; ,e;J rig  
 a. 1, 2, 3, 4   b. 2, 1, 4, 3    c. 2, 4, 3, 1    

d. 4, 3, 2,1  e. tpil njhpatpy;iy 
 
142. The first Indian to find a place in London Privy Council  

a. Rahmatullah Sayani   b. Sir Syed Ahmed    c. Syed Ameer Ali   
d. Badruddin Tyabji   e. Answer not known 
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yz;ld; gphptpf; fTd;rpypy; ,lk;ngw;w Kjy; ,e;jpah;  

 a. u`kj;Jy;yh rahdp  b. rh; iraJ mfkJ fhd;  c. iraJ mkPh; myp  
 d. g/UjPd; jahg;[p   e. tpil njhpatpy;iy 

 
143. The Two Nation Theory first came from  

a. Rajaji     b. Ramsay MacDonald   c. Mohammad Iqbal     
d. Sir Wazir Hasan   e. Answer not known 

 ,U ehL nfhs;ifia Kjd;Kjypy; nfhz;L te;jth;  
 a. ,uh[h[p   b. uhk;Nr nkf;nlhdhy;L   c. KfkJ ,f;ghy;  

d. rh; thrPh; `rd;  e. tpil njhpatpy;iy 
 

144. Who appeared in court in defense of the INA soldiers  
a. Jawaharlal Nehru   b. Motilal Nehru   c. Rajaji     
d. Subhash Chandra Bose   e. Answer not known 

 ,e;jpa Njrpa ,uhZtg;gil tPuh;fs; rhh;ghf ePjpkd;wj;jpy; thjhbath; ahh;? 
 a. [t`h;yhy; NeU   b. Nkhjpyhy; NeU  c.  ,uh[h[p    

d. Rgh~; re;jpu Ngh];  e. tpil njhpatpy;iy 
 
145. Who was the Viceroy of India when the Quit India Movement started in 1942?  

a. Lord Wavell    b. Lord Linlithgow  c. Lord Mountbatten  
d. Winston Churchill   e. Answer not known 
1942 ,y; nts;isaNd ntspNaW ,af;fk; njhlq;fg;gl;l NghJ ,e;jpahtpd; itrpuha; 
ahh;? 
a. Ntty; gpuG   b. ypd;ypj;Nfh gpuG  c. nksz;l;Ngl;ld; gpuG  
d. tpd;];ld; rh;r;rpy;   e. tpil njhpatpy;iy 

 
146. The difference between the S.I and C.I. for 2 years for a principal of ` 5,000 at the rate of 

interest 8% p.a. is ________  
a. Rs.  32   b. Rs. 35   c. Rs. 38 
d. Rs.  42   e. Answer not known 
Rs.  5,000 f;F> 8% Mz;L tl;bapy;> 2 Mz;LfSf;F nfhLf;Fk; jdptl;bf;Fk; $l;L 
tl;bf;Fk; ,ilNaAs;s tpj;jpahrk; 
a. Rs.  32   b. Rs.  35   c. Rs.  38 
d. Rs.  42   e. tpil njhpatpy;iy 

 

147. Find the C.I on ₹15000 for 3 years if the rates of interest are 15%, 20% and 25% for I, II 
and III years respectively. 
a. Rs. 10,875  b. Rs. 15,780   c. Rs. 17,580  
d. Rs. 18,750  e. Answer not known 
I>II kw;Wk; III Mz;LfSf;fhd tl;b tPjq;fs; KiwNa 15%> 20% kw;Wk; 25% vdpy;> 
Rs.15>000 ,f;F 3 Mz;LfSf;F fpilf;Fk; $l;L tl;biaf; fhz;f. 

a. Rs. 10,875  b. Rs. 15,780   c. Rs. 17,580  
d. Rs. 18,750  e. tpil njhpatpy;iy 

 

148. Find the compound interest on ₹3200 at 2.5% p.a for 2 years, compounded annually. 
a. Rs. 110  b. Rs. 126   c. Rs. 162   
d. Rs.180   e. Answer not known 
Rs.3200 ,f;F 2.5% Mz;L tl;bapy;> Mz;Lf;nfhU Kiw tl;bf; fzf;fplg;gLk; 
Kiwapy; 2Mz;LfSf;F> fpilf;Fk; $l;L tl;biaf; fhz;f. 
a. Rs. 110  b. Rs. 126   c. Rs. 162   
d. Rs.180   e. tpil njhpatpy;iy 
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149. The bacteria in a culture grows by 5% in the first hour, decreases by 8% in the second 
hour and again increases by 10% in the third hour. Find the count of the bacteria at the 
end of 3 hours, if its initial count was 10000. 
a. 10626   b. 16260   c. 16026   
d. 10266   e. Answer not known 
xU tif ghf;Bhpah> KjyhtJ xU kzp Neuj;jpy; 5% tsh;r;rpAk;> ,uz;lhtJ kzp 
Neuj;jpy; 8% tsh;r;rpf; Fd;wpAk;> %d;whtJ kzp Neuj;jpy; 10% tsh;r;rpAk; milfpwJ. 
Kjypy; mjd; vz;zpf;if 10000 Mf ,Ue;jJ vdpy;> %d;W kzp Neuj;jpw;Fg; gpwF 
mjd; vz;zpf;ifiaf; fhz;f. 
a. 10626   b. 16260   c. 16026   
d. 10266   e. tpil njhpatpy;iy 

 
150. A sum becomes Rs. 4500 after 2 years and Rs. 6750 after 4 years at compound interest, then 

find the sum. 

a. Rs. 4000   b. Rs. 2,500    c Rs. 3,000  
d. Rs. 3,050   e. Answer not known  
$l;L tl;b Kiwapy; xU njhifahdJ 2 Mz;Lfspy; ₹ 4>500 MfTk; 4 Mz;Lfspy; ₹ 
6>750 MfTk; Mfpd;wJ vdpy; me;j njhif vd;d? 
a. ₹ 4,000   b. ₹ 2, 500   c. ₹ 3,000 
d. ₹ 3,050   e. tpil njhpatpy;iy 

 


